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1. The function s(t) represents the position of an object at time t moving along a line. Suppose s{1) = 120 and s(5) = 220. Find
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2. The position of an object moving along a line is given by the functlﬁ(t) = -8t + 64t Flhd the-average velacity of the
object over the following intervals. iy

;m ) — FeT™
(a) 1, 7] (b) (1, 6] Aj - 1% /6} 7;_7\

{c} 1, 5] {d) [1, 1+ hj where h > 0 is any real number. —_ & /
(a) The average velocity of the object over the interval {1, 7]is ' L CT ?]_________ 23
{b) The average velocity of the object over the interval [1, 6] is : ﬁ [6\ | b-J /)
(c) The average velocity of the object over the interval [1, 5] is ] | =
{d) The average velocity of the object over the mterv__[1 1+ 1_1_]_5__
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3. Forthe position function s(l)i = 16t + 106t, mplete the following table with the appropriate average velocutles Then
make a conjecture about the value of theinstantaneous velocity att = 1. o

Time
Interval
Average
Velocity —_— - — —_— —

1, 2] [1,1.5] [1, 1.1] [1.1.01) [1. 1.001]

Complete the following table.

Time
Interval [1,2] [1,1.5] (1, 1.1] [1, 1.01] (1, 1.001]

Average [ | v
Velocity
(Type exact answers. Type integers or decimals.)

The value of the instantaneous velacity att = 1 is l
(Round to the nearest integer as needed.}
/ f— J- /6 ¢ +/06€

Answers 58

o _{ZQ:M
724 (2 —(1) )
ZZZ; WA= S E) Cypeém) -
(z) —(1)
e ElE@ 7 06w) = (1T 1900)
o ) — ()
(e r21y) —(Aers0e)
(z) (1)
(/‘75) "(70) d
@) —(1) )
[«¢7- 20
,—--""-"—_Lf B / £
s
-
>
h"""—-—-_

I nf 70 T 4416/2019. 2:35 PM



SR/ = 7€ /06

SUs) =800
([.35)—Ci)
("fc(ﬂf)l“—f/oc(/»_rg_)_“( ’/G(/)L—r'-/w(/)):
(hs)=(1)
70C (! 3-)) —(=recn)(n) /UG/')):

ﬁ"/(([)’)f/‘r) ~t
o (fs?—C1)
(f}c —+ /57) f——(—/cvﬂ/ﬂc) -

(ls) =)
(12y) —(7)
(ls)— (1)

(15 — 7Y

_‘__,_.-—'—"'_'_

(¢ — |
32

- <

——

’”‘575“ =

€3




i
(gt = veetr 00D
SUO—=8( .
(/1) —C1)

(/e D" Sr06(hr)) (16t~ r0c01)
(1) =Ct)

1é/c, (61)(L1) +/06(£/)) —(—/c(:)awz
- (/1) =)

(~113¢ + o) —(—1e7/09)

L

k) (1)
(77.2¢/ —( )
(/1) ~Ct)

S7,.2« — 79

-—

(=
_7.2v

'/

—




j\(/,o/)*ﬁf/) .
(/.ot) —(C1) i

_(*/((/.0{)_27‘ /&C(Aa/))—( */CKI)L—f-/M/U)
(fot) —(1)

(4 “‘L’).MM,:@M(«) +/06C)) =
(tot) =C1)

(/632¢ =+ 107 oc) = (et 100
(l01) ~( 1) :

(700735?) "‘(?o)
(Loi) —Cl)

Jo. T =72
Lol — |
757 Y
/72?(/:
°O

-

—




( --fﬁ‘i/-' ‘_‘féflv*/oi;_g:ﬁ
S(/.Oo/)»—f(/) N
(l.os 1) - ()
_fﬁ_(__/;c’_w_); (ﬁ(_[.../'m’/))”("’/@f’)dﬁf/OC(f)) -
(/-00t) = (0O )
f/c (i )(l.w) 1100 (L wi) ) - (~/<= (/)(/)—f/ac@_:

(o) =(0

1l o z2ol 6t /06195 —( ~/¢ -7‘@_

(/-oot) (1)
(70,4757&() - (7))
A

[/.ou/) ~(1)

Go. 073507 — 77

(ot )= (1)

70,073‘?'?%»—704’1
/ ¢
oot — |
07207

.00 [
73.979 —

K¢ (/4/%,{ i 12 5FhaFrncoss V’(/JC:;§ Ma)/f//}(@
% = o M .

e




CAL2413ANSWERSI130FIESTA https://xlitemprod.pearsonemg.com/api/v]/print/math

.-o---—-...‘\_ ——
4. For the functi f(x) =12¢ - x make a table Q‘frlopes of secantjhnes and make a conjecture about the slope of the tangent

line at x=1. e
Complete the table.
(Round the final answer to three decimal places as needed. Round all intermediate values to four decimal places as
needed.}
Interval Slope of secant line |
M, 2] | "/,.,- ' }' "
[1,1.5] | | .
(1, 1.1] j ( 6(}_. (Ex — X
f1, 1.01) . e
[1,1.001] =l
An accurate conjecture for the slope of the tangent line at x=1is l ;
{Round to the nearest integer as needed.)
Answers 83.000 {(Z ) - 7[( ‘)
56.000 o2) (D
38.720
35.360 az (2) "“(2)) ( (2(1) »-(l))
35.000 (2,) ( / ) b
35
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5, o2 -
'\Let f(x) = ECE (a) Calculate f(x) for each value of x in the following table. (b) Make a conjecture about the value of
li =
im ;
xqzx—z

(a) Calculate f(x) for each value of x in the following table,

X 1.9 1.99 1.999 1.9999
x2-4 (
fix)= =2
X 21 2.01 2.001 2.0001
e XA T I T
x)=<3
{Type an integer or decimal rounded to four decimal places as needed.)
2
x -4
{b} Make a conjecture about the value of lim x-2 "
X=2
xz -4 S
lim —— 2 = (Type an integer or a decimal.)
x—2 % e
(&
Answers 3.9
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Z
3.999 /(/ﬁ) - (/7 =/
3.9999 (/‘ i) —L

4.1

4.001
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a, Make two tables, one showing the values of g for t=63.9, 63.99, and 63.999 and one showing values of g for t =64.1,
64.01, and 64.001.

t-64
b. Make a conjecture about the value of lim

t—g4 ¥t —8
a. Make a table showing the values of g for t=63.9, 63.99, and 63.999.

t 63.9 63.99 63.999
alt)
(Round to four decimal places.)

Make a table showing the values of g fort=64.1, 64.01, and 64.001.

t 64.1 64.01 64.001
alt)
(Round to four decimal places.)

t-64

b. Make a conjecture about the value of lim

choice ‘-.64\/?-8 N o 6 . .61’/
| 5e) - Ve — % -
t-64 i
O A, lim

54 VT -8 = {(Simplify your answer.) ( 63, _ 3. y N (C V)
() B, The limit does not exist. j 7 ) (
Jiso — ¥

Answers 15.9937 . . ....-G v
15,9994 j(Giﬁj — = 63 L
7993747 557 — F

. Select the correct choice answer boxes in your

15.9999
16.0062 . —_
16.0006 j (6’}‘7) B I —
16.0001 T 006t szYY3
A, ‘Er:“t/%?l =E {Simplify your_ﬁi\ﬂvfn) ——— =
9(63.9)= /$.99377F 3¢
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7. Use the graph to find the following limits
and function value.

a. lim f(x}
x—0"

b. lim f(x}
x=—0"

c. lim f(x)
x=0

d. f(0)

a. Find the limit. Select the correct choice below and fill in any answer boxes in your choice.

e )
(A, lim f(x)= \l /}(Type an integer.)

x=—0
() B. The limit does not exist.
b. Find the limit. Select the correct choice below and fill in any answer boxes in your choice.

/. '.
tJ‘\/ lim f(x}= @ {Type an integer.)

x=0"
) B. The limit does not exist.
¢. Find the limit. Select the correct choice below and fill in any answer boxes in your choice.

O A lim f(x)= (Type an integer.)

-0
{l}*(:fl_'ﬁé_lir-ﬁ'it does not exist.i'_')

d. Find the Tunchian valoe. _S_él_e_ct the correct choice below and fill in any answer boxes in your choice.

@A-/f(O) = 6—7 (Type an integer.)

() 8. The answer is undefined.
Answers A, lim f(x)=| 5 {Type an integer.}
x=—0"

A, lim f{x) =‘II (Type an integer.)
x—0*

B. The limit does not exist,

A f(0)= 5 (Type an integer.)

ID: 2.2.15
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U/g X2 - 2x - 35 % ~2x - 35

Explain why lim = lim {x-7), and then evaluate lim
x—-5 **5 o6 ey

Choose the carrect answer below.

O A X% = 2x =35
The numerator of the expression —x+5 simplifies to x = 7 for all x, so the limits are
equal.

OB x2 - 2x - 35
Since ————— =x -7 whenever x # - 5, it follows that the two expressions evaluate to the

x+5
same number as x approaches - 5.
() €. Since each limit approaches - 5, it follows that the limits are equal.

Opb. o x? = 2x - 35 _ .
The limits lim —x+5 and lim (x-7)equal the same number when evaluated using

x—=5 x— =5
direct substitution.

Now evaluate the limit.

x? - 2x =35
lim ———= ] (Simplify your answer.)

X— =5 x+5
Answers B.
x? -2x-35
Since ETY I 7 whenever x# = 5, it follows that the two expressions evaluate to the same number as
% approaches - 5. ,L'__ \
X —{X =35
L — K

X?;’ \
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8. Assume lim f(x)=9 and lim h{x) = 3. Compute the followihg limit and state the limit laws used to justify the computation.
G\

e e . Y

A - LY
f " “
I|m % II (= 1 \x_\
[im é‘»’] ﬁ'.
f A o |
i # = | ‘ {Simplify your answer.) 1"___——- - \
™ oo [iin &) |

(— 9 |

Select each limit law used to justify the computation.

1 A, Quotient
"1 B. Difference \
] €. Root
£1D. Sum \
[Tl E. Constant multiple

T1F.  Power

{16G. Product

Answers 3
A, Quotient
ID: 2_3_8#_____________ ——
[)70_"‘;! the following limi _— s S i ;ri/ F-ﬁl
. g limit or state that it does not exist. s W/ (—-_ 99// \/—-1‘ ? l
lim Vx -2 / 15 =) 'f"l‘%/‘f"«?l X = -
x—441 x =441 | )(-—'—7 oy 6/,_ L/?) ( )( '—(_2 ’)

Simplifi:i z:ven limit. / M ___(_7_(: _6‘1?//) (1)
lim - = |II'T1 (:) (Slmplg your answer) (/(':;W) m ~+7 l)

a1 X"

Evaluate the limit, if possible. Select the correct chpice below and, if necessary, fill in the answer box to complete your

choice. :
/ mn —
. X—>4y) X+ |
O A. x-”,Tu YRk - {Type an exac.t answer.) / o
() B. The limit does not exist. {/C/_y—j -t 2 |
A 1 .:“. —/L"
nswers \/;+21 ".I 2 /,4 b4 /
o ax-21 1
5 x_'_’.TM X441 a2

ID; 2.3.41-Setup & Soclve
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.‘_/ 11. Determine the following limit at infinity. //m ﬁz
X— oo

f(x
Ilm L)- if f(x)—900,000 and g(x)— o0 as x—+o0

o ' /4
[1m <)
Find the limit. Choose the correct answer below. r_____i(:z-'—?f—'—""" —

O A I|m %—0 /Hh SK}
X—>
o 12
%) — &
oe. ||m —ﬁ-goo 000 %
fx 1
OB ™™ 5 " 900,000
Answer: f(x)
im ——=0
oo 30
\H 5
e T
ID: 2.5.11

= o B S =N a— e ....._3 o
12. Determine the following limit at infinity. // j— -t 7% T 71(
(4]

3
8+9x+7x L

im ———— )(-——7 pa

X— OO X
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. ) B
. /) v fg il !

. lim ———]—=

_ g o ) % > o

(") B. The limit does not exist and is neither — co nor co.

8+0x+7x

Answer: A. lim — - 7

=00 X

owese Lo

9 of 79 N 44602019, 2:35 PM
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/u WC, SW 3z
ﬂ /0 w -( s v 1] W /2

/" 10wk +5w+3 [ m W=pr (r“ 7‘%’;3‘(.

lim W w
i~ Vel (Sl

l/ 13. Determine the following limit.

Select the correct choice below, and, if necessary, fill in the answer box to complete your choice. ot r — —-2—
10wl 5w+ 3 o W—2p & -+ £,
) A, lim —Ta—= o ~ (Simplify your answer.}
w—oo 4w +w
o _ o /O~ O+ ©
) B. The limit does not exist and is neither oo nor - -
U & +o
. . 10w2 + 5w+ 3 5 Simpiy | /O
nswer: A. lim —F——= l implify your answer. =
w—oa 1/ tlw4 +w3 - z V—q
/

ID: 2.5.29 _Zq = @

74_— S o = o 2
14. Determine the following limit. / G (
I _ U@G’i 5 ) ”LL et
16952 +x F~ /i r KIS Ve Xt -

(ST VR e XD T X (R

Select the correct choice below, and, if necessary, fill in the answer box to complete your choice. 7
/1 67—+ X
1/ 169%° + x NP X

DA Jim (Simplify your answer.) =

X— = o3 X

{7) B. The limit doe ist and is neith - oo, ’ : .
5 imi s not exist and is neither oo nor — oo /,/h /(? -F_L
—_—X
—— X—> =02
169x +X l
Answer: A, lim ! (Simplify your answer.)

._-—""'-___- e

— Uss =
—/ 7

ID: 2.5.31
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15, Determine lim f{x)and lim f{x) for the following function. Then give the horizontal asymptotes of f, if any.
X=+o0 X— — o0 _l ’&
: G = /.
%] - S éz
o) = = A I X-»
)=57+5 %_,)w = X~2 oo z,_< » o

Evaluate lim f(x). Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

X=+00 ;';
—

“ /I )
O A 5 ax o 3- _f;
xIl.mm e (Simplify your answer.) )(——'9 0
) B. The limit does not exist and is neither co nor - co. (/ -

Q2
Evaluate lim f(x). Select the correct choice below and, if necessary. fill in the answer b%tgzomplete your choice.

X= =00 (—f
oA ax o 8

x—I:Tm Bx+5 {Simplify your answer.)

() B. The limit does not exist and is neither co nor - co. ==

Give the horizontal asymptotes of f, if any. Select the correct choice below and, if necessary, fill in the answer box(es) to

camplete your choice,

[
(O A. The function has one harizontal asymptote, . ?/ /L)
{Type an equation.)
(O B. The function has two horizontal asymptotes. The top asymptote js

bottom asymptote is
(Type equations.}

() €. The function has no horizontal asympg

Answers A, lim (Simplify your answer.}

Bx+ 5 2
X+ 00 L
A, x_l-ll"lj B+ 5 =. 7 (Simplify your answer.)
1
A. The function has one horizontal asymptote, y= 2 . (Type an equation.)

' ID:2537 S ym‘;w—t_,\———

W :

/-—w (x ~ Pt i

/ CT-\/'#J .é) Fro

/:- x _ %,

)(:?70 A 7

X ‘-/'7( 71

/ll;'\o - — 7t/
X—~n0 Ot %

17of 79 6:2040, 235 PM
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[A Evaluate lim f(x}and lim f(x) for the following rational function. Use oo or = co where appropriate. Then give the
X=+00 X=— =00
horizontal asymptote of f {if any).

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A lim f(x)= (Simplify your answer.)

X—0o0

() B. The limit does not exist and is neither co nor — co.
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

P~

LA im f(x)= (Simplify your answer.)
X=e =0

(7 B. The limit does not exist and is neither co nor - co.

Identify the horizontal asymptote. Select the correct choice below and, if necessary, fill in the _mb_g_ﬂg complete your
choice. — —~

() A. The horizontal asymptote is y =

") B. There are no horizontal asymptotes.

Answers A. lim f(x}= 2 (Simplify your answer.)
XK= 00
A, lim f(x)= 2 | (Simplify your answer.)
X— = oo
A, The horizontal asymptote is y = 2
ID: 2.5.39

/17 X =77 7 N 4 ~ 0o

¢ T oxu 7 7\;:
L7 7° 2+ = -
X(_’
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/7. Evaluate lim f(x)and lim f(x} for the rational function. Then give the horizontal asymptote of f (if any).

X— o0 = =00
. 20x° -8
X} =
4x6 - 9x5

Select the correct choice below, and, if necessary, fill in the answer box to complete your choice.

O A 20° -8

lim — T {Simplify your answer.)
X— — 4% - 9x

) B. The limit does not exist and is neither co or = oo

Select the correct choice below, and, if necessary, fill in the answer box to complete your choice.

~ 20x°-8 o
lim % 5 {Simplify your answer.)
X=me O3 4% = 8x

) B. The limit does not exist and is neither co or — o0

Select the correct choice below, and, if necessary, fill in the answer box to complet

() A. The function has a horizontal asymptote aty =
(Simplify your answer.)
) B. The function has no horizontal asymptote.

20x°-8
Answers A, lim % .5 =| 5 (Simplify your ans
X—r = 00 4x° = 9x
20x -8
A, lim | (Simplify your answer.)

X = 00 4X - 9x

A. The function has a horizontal asymptole aty = 5 . {Simplify your answer.)

ID: 2.5.40

i /ZOX-—
K= po [ ¥X° ‘ﬁx)/(,)

e 2oxt
| na

¥ b

\~> 00 ﬁ’&i(.._ ‘fxf‘
Jin 20 — 7%

T — Z

K~>m &

)0

BS—

4/16/2019, I
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JB. Determine lim f(x) and lim f(x) for the following function. Then give the horizontal asymptotes of f, if any.

A= o0 = =00

3x -7

x +5x

f(x) =

Evaluate lim f(x). Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

X—0o0

A -7
lim = - (Simplify your answer.)
X— 00 X + 5)(

™ B. The limit does not exist and is neither co nor = oo

Evaluate lim f(x). Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

X— =

O A " 3 -7
im =
X=—r = (X0 X4 + 5!2
) B. The limit does not exist and is neither oo nor —co

{Simplify your answer.)

Identify the horizontal asymptotes. Select the correct choice below and, if necessary, fill in the answer box(es) to complete
your choice.

O A. The function has one horizontal asymptote,
(Type an equation.)

() B. The function has two horizontal asymptotes. The top asymptote is
bottom asymptote is
(Type equations.)

) €. The function has no horizontal asymptotes.

3% -
Answers A, lim !(Slmpllfy your answ ) X —2 o

x-—-oox *5)(

A. The function has one horizontal asymptote, y=0 ] (Type an equation.)

y D/ 22
_,_zd

D: 2541 )
¥v7 )(L
X—>10 XV’”"}) 7 | 0—~o

3%3 —— ! g
//h., - ’71’( %‘f _*_: I —t
X0 A7 _ sx°

14 F 79 4/16/2019, F35 P
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X =~ iy
Fi h f the functi /N’k ( —
19. Find all the asymptotes of the function. '( 54 CX = S~ 2
2 Forl
8x" +24 ox¢ iy
= ——— /1 x— -
2x° +3x-2 Y—>ne _ZJ(L._{, 3 2
Find the horizontal asymptotes. Select the correct choice below"gnd if necessary(ﬁil‘l’
your choice. Y
/ /7 8 Tt xu
(0 A. The function has one horizontal asymptote, Y—>p0. 2 -
AL 2+ %

(Type an equation using y as the variable.)

(O B. The function has two horizontal asymptotes. The top asymptote is

bottom asymptote is 3 e O
{Type equations using y as the vanable ) =
() €. The function has no horizontal asymptotes. 27 d O

Find the vertical asymptotes. Select the correct choice below and, if necessary, fill in the answer box(es) to complete your

choice. Z y
=X, Ao /
(O A. The function has one vertical asymptote, . 0 1o L/(
(Type an equation using x as the variable.) 5 7~/ ‘A/éf

(O B. The function has two vertical asymptotes. The leftmost asymptote is and the
rightmost asymptote is
{Type equations using x as the vanable )

() €. The function has no vertical asymptotes.

Find the slant asymptote(s). Select the correct choice below and, if necessary, fill in the answer box(es) to complete your
choice.

(O A. The function has one slant asymptote,
(Type an equation using x and y as the variables.)
() B. The function has two slant asymptotes. The asymptote with the larger slope is
and the asymptote with the smaller slope is
{Type equations using x and y as the variables.)
() €. The function has no slant asymptotes.

Answers A. The function has one harizontal asymptote, | y=4 , (Type an equation using y as the variable.)
B.
The function has two vertical asymptotes. The leftmost asymptote is x=-=2 and the rightmost
i 1 L
asymptote is x=> X A X" t3x-2

{Type equations using x as the variable.}

C. The function has no slant asymptotes. éﬂ\ l) (75 + 1) —
I~ =o ot X+2+

ID: EXTRA 2.66 X (—+( T 0T/ 0,’( ;("f‘f 2 =o—¢C
—— / =
26 </ 0 X= )

2=/ e
~ @ a;vﬁ”’”ﬁk

150f 79 4/16/2019, 2:35 PM
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20. Determine whether the following function is continuous at a. Use the continuity checklist to justify your answer.

4x? + 25x+ 25

xz — Bx

f(x) = ,a=8

Select all that apply.

,_”:1 A. The function is conlinuous at a = 8.
IE‘/B. The function is not continuous at a = 8 because f(8) is undefined.
[4C. The function is not continuous at a = 8 because lim f(x) does not exist.

Xx—8
IE{ The function is not continuous at a = 8 because lim f(x) # f(8).
x—8

Answer: B, The function is not continuous at a = B because f(8) is undefined. , C.

The function is not continuous at a = 8 because lim f(x) does not exist. , D.
x—8

The function is not continuous at a = 8 because lim f(x) # f8).
x—8

iD: 2.6.17

21. Determine whether the following function is continuous at a. Use the continuity checklist to justify your answer.

2-
X144 stz
f(x)= x=-12 ;a=12

3 if x=12
Select all that apply.

(] A. The function is continuous ata= 12,
[7] B. The function is not continuous at a = 12 because f{12) is undefined.

[T} €. The function is not continuous at a =12 because lim f(x) does not exist.
x=12

.:'/ E/D. The function is not continuous at a = 12 because lim f(x)”#f(12).
p x—12

Answer: D, The function is not continuous at a= 12 because lim f{x) #f{12).
x=12

ID; 2.6.21

16 of 79 4/16/2019, 2:35 PM
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LA Determine thgmn which the following function is &@
P A
X2 -4 ()91 —~( 47’ o
On what interval(s) is f continuous?( {..f LD( ,(__-7,) —o
L “rlTo ot X-{==

{Simplify your answer. Type your answer in interval notation. Use a comma to separate answers as needed.)

,(_,1 1oL gr. K-1tlzo—L

L_Xj—d/t)(onfﬁ’— -

f(x) =

Answer: (— o0, —2),{~2,2),(2,00

ID: 2.6.28

23. Evaluate the following limit.

o
lim /%% +24 = [/ = 2y T Z'T"’(‘Zt?/ (/\ @

x—5

Select the correct choice below and, if necessary, fill in the answer box to complete your choice,

s __;.57*- e —_— = ————
73 i
1'\ o lim sz +24 = 7 , because x2 + 24 is continuous for all x and the square root "‘-«..I
x=5
\ function is continuous for all xz 0, el

- (Type.an integer or a fraction.)
() B. The limit does not exist and is neither co nor - co

feamer 1)
lim 1./ x° +24 = 7 , because x< + 24 is continuous for all x and the square root function is

x—5
continuous for all x = 0.
(Type an integer or a fraction.)

ID: 2.6.53

e
L7‘ ..... el e —
24. Suppose x lies in the interval (1,3) with x # 2. Find the smallest positive value of & such that the inequality 0 < |x-2| <8 is
true for all possible values of x.

The smallest positive value of § is ‘ - (Type an integer or a fractmrr}’ —_ I ~{ O' ﬂu
5
Answer; 1 0 < \ X —2 l< f ’FF# "_':;L —
[x-zl< £ 7 ol

ID: 2.7.1 R P J’;\i
v ._ [ p
~[n <x-tALC Jer

I+l < x < Jre jf- ]
—J+&= | or J—fz = 3
—JSrr-t < - Qb J‘H."Z =3

170f79 T T B L S P e e CS FTO20T9. 255 PM
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25. Suppose |f(x)- 7| < 0.3 whenever 0<x <7. Find all values of 5> 0 such that |f(x) - 7| < 0.3 whenever 0 < |x- 2| <8.

The values of 5are 0< 8 s! ‘2 . (Type an integer or a fraction.)

Answer; 2

1D: 2.7.7

/
;/ 26.

The function f in the figure satisfies lim f(x) = 4. Delermine

x—-Z Ay
the largest value of § > 0 satisfying each statement. 8
a. if0<|x—2| <8, then |i(x)-4| <2. 74

b. If0<|x=2| <5, then |f(x)- 4| <1.
a. 8= I {Simplify your answer.) 5-:

b.5=| i /__|(Simplify your answer.) 4
/V ]

y=1(x)

[~
>

Answers 1
]
2

D: 279

18 0f 79 g 4/16/2019, 2:35 PM
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l/27. Use the precise definition of a limit to prove the following limit. Specify a relationship between e and & that guarantees the

limit exists. /(6(7‘[ q‘) B ‘?/Ce

lim (6x+9)=9
x—0
f J ex+9-9/<C
Let £ > 0 be given. Choose the correct proof below.
fex]f< e

() A. Choose 8=¢. Then, |(6x +9) - 9] <& whenever 0 <|x-0[ <&. / 6/ .| x / < e
() B. Choose & =6¢. Then, |(6x +9) - 8| <& whenever 0 < |x - 0] <3. A
6 /)(/<. -

() €. Choose 8=—. Then, |(6x+9) - 9|<ewhenever0<|x 0] <8.

—~——_'__'___ ﬁﬂ . //(__6_7_
¢ yﬁ Chooseﬁ-- Then, |(6x +9) - 9] <& whenever 0 <|x— 0| ("

K<d

(") E. None of the above proofs is correct. / X l <

G
Answer: D. Choose6=§. Then, |(6x +9) - 9| <& whenever 0 < |x - 0| <8. /,("""' O/ < % e Wﬁ_/{
<""/{,/ O}": _G_?_\)
ID: 2.7.19 i G

l/ 28. Find the@ velacitylof the function over the given interval.
3 N1CE f) -

y=x-2"[:'1 Lb— <]
OA 2 /(,7),-/(@
OB 7 7—Y
Oc. = 3 ( 3
3 [ — -
; ,,7'-__?:2 =/
2 "0 7"(f f
3
Answer 3 -—3- - —-Z
BT \: .

19af79 e = e 416/2019. 2:35 PM
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29. Find all:ygrtlcal asymptotes of the given fy_n_c_nnnﬂ

a(x) = :+11 M )(‘_/6( =2

x° + 16x
O A. x=0,x=-18 )( ()(F/(J) =
O B. x=-18,x=-11 -5 O/L )("'/é _

{()C. x=0,x=-4,x=4
O D, x==-4,x=4

Answer: A. x=0,x=-16

ID: 2.4-19

e

ﬂ Divide numerator and denominator by the hlghest power of x in the denominator to find the limit at infinity.

x-ax-5 X//"» X’g — 3X_ ——-5‘
2/3_, ‘5 p0 ﬁéx
: —t >(

1
ot % Xﬁﬂix%-—f
OB - -
Oc. 2 X ZM ---G X'}/B __’_ XZ/] _

OD 0 —L
= )
Answer: N % X-—-.>M /)( — 3 X ~¢ ) X '>ﬁ
7

3
C ;( /5 'L/}
ID: 2.5-12 ( t >< N

— __/!:__. —x s - 3

lim
™ -Bx+x

—

f

M AT T0

4/16:2019, 2:35 PM



ZAL2413

31. Use the graph to ﬁndﬁ

SWERSILS0FIESTA
)

fix)=2x + 3,£e=02,x=1,L=5.

1 Click the icon to view the graph.

OA. 4
O B. 02
) c. 04

2. Find thevalue of the derivative of the function at the given point.

&> 0 such that for all x, 0<|x-x0|<5

[Excey = (F)[< 0=

/L)(—f3—-r/<0,l..

hitps://xlitemprod.pearsoncmg.com/api/vi/printmath

u— S

[ix—2[ < ot

f e
@f(x) -L| <&. Use the following infges

[x=1]< 0-]

1: Graph
H\y
v=3Ix+3
50Fcceccanan
5 .......
] ]
] ]
] ]
48% 1 )
] ] ]
1 ] ]
1 ] ¥
] ] ]
) ] ]
] ] ]
] 1 ]
/ ' '
1 [] 1
1 1 1
[ 0.90 1 .10
NOT TO SCALE
Answer: D. 0.1
1D: 2.7-1

f(x) = 4x° = 5x; (= 1,9)

f'{(-1)= I (Type an integer or a simplified fraction.)

Answer: =13

ID: 311

£t = Yt K
/Ip(] T A —<

/ﬂ(-t) = J(=1) —
- —~J—5

[z

4/16/2019, 2:35 P
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(E ' = 31
L/as. fta+ h) - f(a) @) =2 G \,
a. Use the defi tlon Mygn = IM ———— 4.;#""

1D: 3.1.25 A=
/ = ; . __.2_@#;:. = @ i

h to find the slope of the line tangent to the graph offa —

h—0 -
b. Determine an equation of the tangent line at 7] [(Q \ / ("S' )= Z )= / o<
Srimt ((a—fé) —s/ ~(&f 37 M =T C-/'S‘ 22
= 11—, <P (X4 )

a - lim (i—r‘u g{-rA) 3 —abey .
L R / “j,———/zz) = =/o(X— £<))
bys[ | him A ehq ho 47 = L -2t = ~o(Xrs)

f(x) = x> = 3, P(~ 5,22)

A~ =
Answers =10 / Zaé—t-'t,( ;’ j-—-ZZ = "'/L))( —O
- 10x - 28 h:—’ — 4 - "}Z”f&(’l TOK ~ST T2
/1 éa-f-A/t

1 ; 34, Match the graph of the function on the right with the graph of it

22 nf79

X poom /L

ID: 3.2.49

4/16/2019, 2:35 PM
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-~

39, a. Use the Product Rule to find the derivative of the given function.
b. Find the derivative by expanding the product first.

f(x) = (x = 3)(4x + 2)

a. Use the product rule to find the derivative of the function. Select the correct answer below and fill in the answer box{es)

to complete your choice,

() A. The derivative is (x - 3)( } +(4x+ 2)( ] .
() B. The derivative is (x - 3)(4x +2) ).

{_) €. The derivative is { ] (x-3).

O D. The derivative is ( ) x(4x +2).

O E. The derivative is (x - 3)(4x +2) + ( ).

b. Expand the product.

(x-3)dx+2)= (Simpilify your answer.)

d
Using either approach, a(x -3)4x+2)=

Answers A, The derivative is (x — 3)( 4 ) +{4x+2)( 1 ).

4x* -10x-6

/ - (I =)
ID: 3.4.8 /,/3/4! < (X-») (e ) (2 3){%@‘3)
fhy < (1-0) (Btar) = (-3)(4r0)

fla < (1) ) (%)Y

/@» ¢x+g_ +F—1 L

/(x W=y OF

8x-10

%#'T/ i N— E
/[6(} 6(,_ s ) [ Yere)

A« St g K — (LA — 6
feo — Yyt —/ox =6
fa= Vo~ =9

iz 00 >

24079 s

4/16/2019. 2:35 PM
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LA A line perpendicular to another line or to a tangent line is called a normal line. Find an equation of the line perpendicular to
the line that is tangent to the following curve at the given paint P.

(o0 gl e

y=7x-15P(2,-1) Q/ Ay Z -2
-

The equation of the normal line at P(2, - 1) is
Y=Y = (o=x)
Answer: y'-;x*'[-—] g~ @p I{X“—a)
g -rl= "L(;( -1)

- Z
ID: 3.2.63 Il = XA 7
‘1%56. Evaluate the derivatw;af_the fl-.lncli;l; .given belpw usir.19 a Iimi_t definition of the derivative.
Jr »/G(—f 4):/ % [
f(x) = x* +6x-8 4o )( ¢ I h G
f'(x) = Jyr ((l/’f/\) — b G([’(A} ".{ ) -( a5 ? \/nm i J('H" L"_{' =
—_— hD h—> -
L0007 =
Answer:2x+6  [1an  (Fh) (Lrh ) F6X+G6h — h — f X (’)(.fi
=t Ch —{.—/ 7vd
ID: EXTRA3.2  /im )(/Iéf X“—f Dd'*-”m_'“ 76/t T S
T T 23 R -
| N /
37" Use the Quotient Rule to evaluate and simplify — ‘ [ ;x _45} Q( —¢) é)(——S') - ()C-— v) (t¢-5)
( 2,(,.,)
() fembate (o)~ k2
) (&{-—'\’) L
Answer: 3 (‘ )/ Il—5 ) "_(—{-'VY 2) ~
@9 /@x,.r) 2 %
U ,.5‘ —
b ID: 3.4.5 _._{___x.’—-'r—j G}(__Y)

,_/ 38. 232

Use the Quotient Rule to find g'(1) given that g(x) = et 1

g'(1)=] | (z)() ﬂ:(ﬂ) — (u’l )@m)_

I(\)t YA Sanad),
e(1)+)<

jtﬁ)t 2+

(Simplify your answer.) (é;c-f) (61"’!) L
Answer:%% &/}iﬁ(.—([)—(b( }/6-('0)_: I /<
(6% ¢ jﬂ/ = ’7—_{,
D:346 B _(// £ Gy ___(_2)(1/ | ’ ‘ )74
BA = e © (0=

5(5() T (Ut
(Gx—fy =

P AF M e 4/16/2019. 2:35 PM
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40. Use the quotient rule to find the derivative of the given function. Then find the ?erivative by first simplifying the function.

B al 79

41,

Are the results the same? A l/w) . (ﬁ'w(ﬁw)(&/) _ /5‘&/ kf-w)/l,u)

5W‘l -W 2

hiw) = —— )

What is the immediate result of applying the quotient rule? Select the correct answer below. (f__ o [ )
4! )_ (Zdwj—l)(f*’)'_'(yw )
O A (200° - 1) wy+ (5w* ~w) (1) M = L
O B. 15w? “ e S
. W) o 20w —tar — e ¥po

O C. sw’-1 e » i

w{20w® - 1) - (3w* -w) (1)

I h(@{ B / S'wq

v -
What is the fully simplified result of applying the quoti 7
S— plpf = lsw ™/

What is the result of first simplifying the function, then taking the derivative? Select the correct answer below.

O D.

O A, 1502 A e ”
O B. 5W3-1 (Y < —l
e

Oc. (20w®-1)w+ (5w -w) (1) [ / (A »
3_.3_ 4 74 bl

o wl(20w® - 1) 2(5w w) (1) Aﬂv? - 5,‘1"___ —

w ‘\/ [

Are the two results the same? h fﬁ’) - 5_ W, > R ‘

) Yes

() No

Answers o w(20w3 = 1) - (5w4 —W)(1)

W2

15w°

A 15w2

Yes

ID: 3.4.11

If {x) = - cos x, then what is the value of f'(n)? 7‘? ) = ~Cob X
f'(n) = (Simplify your answer.) // ( _
&)= (=51mx)

f{(/': St= X7
oass  ((fr) =515 (0

\-_‘_---‘"_‘————_

Answer: 0
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42. Evaluate the limit. Srn Gc) S0 3 7o 36
: A / X /,,.,, X " AM 3 X
/" sin 3x A A ——— S 1 (2% S > —
(mans ) T ko 22l " K2 ___.’;’{ ), & > 2 ¢S5 Cex)
: S 2
Select the correct choice below and, if necessary, fill in the answer boxgp complete your chouce 3 - I j""'
549 g-j"() ‘
AA sin 3x ‘5\3‘ //"" ER = /,,:r} ‘_9: ' - | ) -
. lim = E———
“J 4 SN 2X X—>5 ;,ﬁ (2x) -
() B. The limit is undefined. 2—>.<‘
3 i 2
Answer: A, lim Sin 3x = % A S - -
xmp=im2xil - 2 | /, Sr4 (22)
il :
1x
X~
/ ID: 3.5.13
- = — ~ —_————————— e — o e e
Ve /A v) = 7 §¢M/%) —f TCos6<)
FmUr the followmg function. /
™~ 7 T Cosx) ' —F S rmtox

nx+9cosx

ﬂ

/ 7 76"-7550//)’-* 751»9(/()//)

Answer: 7¢cos x-9sin x

|2
e
L}

_» ID: 3.5.23 i
o

\/44 Find the derivative of the following function. 7 (é’ j @’ ‘by -|L ( 6 ) (514@

g'= (@ Jorop) 1€ ) crsex)
d (—-f) (Sm) ) 'f(C’ I Coseq (1))

Y,
Answer: » “*(cos x- sin x) 7: "‘6 SIVJ(S() + CJ CU)’K)Q

,L— X cossg /Jé’—"\t
/ ID: 3.5.25 g \J e {_' CU'S /’() — 5, . ()())
L/;S Find an equauon of the line tangenlg to the following curve at the given pajnt. \j,-. U’ == M C;(,- )( \ e

+ x; P(0,0 V’ CA(FFBCO#O "'( 3(
y-2x 3sinx; P(0,0} ‘1;(0/ ‘E/(/ .-f-} @5@/ j X C)f))

The equation for the tangent line is -0 = 3 ()( -
N yo)c 6 31/ 9 2 369
nswer; y = 3x

7‘[07 20~F%
I

ID: EXTRA 3.73 \, [g,

77 = 2(9,0) ‘

ol 1T ____._._n&___._![___._.—-—-—-"—_"_ 4/16/2019, 2:35 PM™
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46.
Let h{x) = f(g(x)) and p(x) = g{f(x}). Use the table below to h'(1) =[ } (Simplify your answer.)

compute the fo!]owmg derl\guwes

a.h'(1) Affﬂ /fﬁ) jff/) ;"; p'(4)= ,Slmpllfyyouranswer)
b Ll < 5/(@7) /ﬁ’}/fﬁ)" /jﬁ)) j.//) //tf') j'/[(q}) /(f,/

x 1 3 4 /’ ¢
f(x) 3 2 4 1 (C; )¢
f'(x) =) -5 -4 -6 s —C e
g(x) 4 1 2 3 ol <
- 1 2 3 4 :
g 5 5 5 5
Answers 6
5
6
5

ID: 3.7.25

47. Calculate the derivative of the following function. / - 7 ( A /) 6")( ~ /)

y=(5x+1) 7(r)( ‘F/) (5“-/09
e

: 7
dx [ 7(3’-)(—1”'{) ()~)
Answer: 35(5x + 1)° j = 35(5X %/)6' \

ID: 3.7.27
/

Lﬁa. Calculate the derivative of the following function,

ry

3(6x +7)
j 3(~‘f)(6>( +’J) /GX +7)
jli =2 (6X —(—?) o (30)(—%0)

Answer: _ 360)(4 ,

(6x°+7)° 9 © (6)();-7;5_0 (30)(‘{)

/

y=3(ex¥+7) *

-
dx —

ID: 3.7.31
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-— I ~7.0
49/ Calculate the derivative of the following function. 7 = (")5 ﬁ 'é t / { o /
l/ y = cos (3t +20) \j L s (36F0) (561

S 7: & /5 (3(—%29){37*0/
.-—SIVJ (36"’(’&‘)) (3)

Answer: =3 sin (3t+20) —

ID: 3.7.32

7 .Calculate the derivative of the following function. j C G V]( ug /
e () gh sect(e): (e)
dx - 7 i S—f(_,(/f’()’ /GM)
Answer: , X goc2 X 7‘,’_— ffot(f”() (e fO)
| 7‘: St (@D ()
e (G K Sl feX) ,2__

51, Calculate- the derivative of the following function, 7 5/ A ( 6 Co )éf)_) /
. y=sin (6cos x) 7 r COS /6 Co 55{)} ((Co Sﬁ(y
o 7': Cos (6 coss)» (=651 g')

Answer: — 6 cos (6 cos x) * sinx 7 ': (ws (6 s (5()) @ ("‘ G S5 (X) (]))
| Yk Cos(a). (~65ma)
l/ 3744 B (_ _E,'f___( 2‘7_6__(—{2};_(_6‘_6()51{}_) o S S
Vi - —
%2 Calculate g—i usinﬂr;ﬁ-blicit deferentia_ﬁéi‘r::

16x = y4

Answer: i

¥ 1z j 3
ID: 3.8.5 /¢

280f 79
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Cos(y 47 = < =

Calculate%using’j@_pljgﬂﬁgfgmn -5/51 ( cj) 7 ’,7; O pam / e f S 79 ) \
cos (y)+8=x -—5»:/3] ‘7 ‘7 = *—CSC(&Q)\\
gr— ——

dy ..__5,

? - ~—S 1 (‘j) JD(

ID: 3.8.7

53.

L . 3 oarflE e a1 o’y
Consider the curve x =y". Use implicit differentiationtp verify that -2 and then find -

T — R 3y dX

Use implicit differentiation to find the derivative of each side of the equation.

d : d 4 dy

dxx —___and y -—dx
dy

Solve for a { ‘7 1 /

)= 399

ID: 3.8.11

\]”... :__%-—-
= 3
7 il __317

290179 4/16/2019, 2:35 PM
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X —f: 7 <~ C 7
55. Carry out the following steps for the given curve.

a. Usedm I|c|t dlﬁerentlatlont find —

T dx’

b. Find the slope of the curve at the given point. 3 ‘7 7 : -3

oy’ = -63; (-4, 1) /: ~ixt

d . -
a. Use implicit differentiation to find d_i % o 37

dy
dx

b. Find the slope of the curve at the given point. 7 - ’ (""f ) [

Theslopeofx3+y3=-63at(—4, 1)is : 7 ﬂ'% // = (] 2_

(Simplify your answer.) I XY )

Answers _x2 7 (,_.9{} I) ‘ ( Y) ("Y)
7 ‘ D
~16

B ‘/ iD: 3.8.13 . ; s
S A _ A (P

Use implicit differentiation to find % 2+ Sia ) /Z, _:/-//g‘r’/ (‘7))
cos(y)+ sin(x)=2y £ O 5(‘9') -+ Sl =
= 2¢

Ccos J

)

dy L =S (Jj)\j o+ CosA)KS 2/7‘5“0 =Y
_/_\\

dx

| —SM/‘j)xj -+ Cd‘SrX)(I,h 27 =
nswer-ZiO:inxy “—S"ﬂ(jj 7 ‘-(—CUS/S(} ." 05 6(/ . %1
Cos(,q 2,7 —-f-fm(})y 2—F Siw (?) ‘&AJ
7 03827 tes = (24 Sf/ncsr_;) T A
R Use“llmtdlﬁere;tlatlo hto ﬁndsl MSSIM(XU’/ } ()(Uy (’(’f’]?
,, * 3500 (e (GOY A+ 6()61)) =7y’
S35 (Xg) e (09 + X g') = Hr7y”
w1 785 (x9) (Y4 xy )= %‘77

—35in

Answer: 4 +3ysin (xy) ﬁj/ 7 ok (X"l} X7 Z{/“‘f?}
—axsin(xy)-7 )'m(o(»)),((. /.._7 — YE35m 7
7(“3”"(’"3”( ~-1)= ?’*37"” 1)

3cos(xy)=4x+7y

. s— L (_Jlé_né@gm_) e M By syl o)~
T son goped=7 | —35m (X907
Wor10 PA TN B
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58 -~

 Us |mpI|cut differentiation to fnd--

_ [

o3sz 3C Y T 8y —3C %y

L/SQ- Us p to fnd%forthe followmg equatlon (

5% 074 = 12 z»;x b 3597y (/é<)/7/'f () m/
dy

2ex »f%

Answer: 25x4 - 12y S_ X /

12x - 35y

ID: 3.8.37

61. Express the function f(x) = g(x)h(") in terms of the natural logakithmic and natural exponential functions (base ¢).

w= | 7Q = ') (<)

A = o
Answer: ¢ h(x)tn g(x) qu ,Q.., ( 9u) ) Vit wr by
_ m - )

— =

—_—
3olf79 4/16/2019. 2:35 PM



62. Find the derivative.

L (n (22+3)) 7', /Gizﬁ//

CAyNSWERSHSOFIESTA https:,-',.'x]itemprod.p(_:gljsonem v [ Wth
Y- ;ﬂ,(uﬂ) Do Ay

d 9 K . Z)( 43 S
a(lﬂ (222 +3)) = __L [: /gﬁ{i_(id : (ihk/d-\

Answer;  4x

2x°+3 ";'7{” YL ' :

o e e - o
63. Evaluate the derivative. 7 - 2 7< 277~
y=2x 2n

y'=___ (Type an exact answer.) "7 ?\ (Z 1/') )<__._

77—

Answer: 4]“((2lt 1)

L/ ID: 3.8.33
64.

it 2 forthe nctony = 17 = 7%
ind Ox for the functiony =17".

e Cv

Answer: 17% In 17

ID: 3.9.37
P A e SRR

1/65. Calculate the derivative of the following function.

y=8|og4(x3-3)

P af79 = : e 4/16/2019, 2:35 PM
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(As. Use logarithmic differentiation to evaluate '(x). / /Z (z‘/’f(/ /“67
: < _/Z ( r 4 ) = /
fog = @ { / gx-)'t

fo0=| = | JZ }éq = ng ()(’/V/ g""/g\ (Z’(”’q}
Answer. (x+4)° [ 8 12} j(/ﬁd}r Y/ﬁ ()(*9/)-—/2\/& (Z’(""(”f)

@x-4)12Lx*4 x-2

(T

/ ({w/ /2 (2x- o)

ID: 3.9.77 ’

4/16/2019, 2:35 PM
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B7.  State the derivative formulas for sin ~ ' x, tan
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5/'1—/;,4/

x, and sec  'x. y
I, Iy ~lex ¢
What is the derivative of sin ~ ' x? 7 a_,.—-—__._}_—
[— @)t
DA —1—~—for|x|>1 j
|x]1/x2—1 ’.- ¢ < /
O B. 1 7 T Vi—xnr
- ————for |x| > 1
|xHx2-1
@e. i
for —1<x<1
J1-+42
@)} 1
- for —1<x<1
_1-—x —
= //'}
What is the derivative of tan ~ 'x? y A
y ! //// —prd A<
— /—
O A. 1 - [
- —— for |x| > 1 )
|X| ‘X2—1 /"(Ié
B. —
S = L for =1<x<1 ‘__ —— V,é ?(é 6
1=-x \7 - l__{-/L
O c.
- for ~co<x<o®
1+x2
) D. 1
> for —co<x <o

1+

(Y]> 1

What is the derivative of sec ~ ' x?
Oa s the derivative o 7' //(}
A. 1 L _
N N
O B.
- for =1<x<1 ' [
1-x
wh Vi /¢t
W-xz_:forlﬂﬂ /)(l XA
D, 1

for =1<x<1
1-)(2

1> |

4/16/2019, 2:35 PM
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Answers 1
for =1<x<1
1—><2
1
D. > for —co<x<o0
1+x

(.58."."I-':'va-l-u;l;t;.;ﬁeﬂc.i.e;'i_\;ti\@ {f the function. ‘7 T Sin ,/f/ :éf) ) \7T: ” ——%1
“Esin T () ) s/ (%% /1-
f'{x)= - Fﬁ(} - Z
— Vi~ Fx‘f)
Answer: 35,3 / ’——_?a_] T,
J1-81x8 ) = | — 7[ 7
ID: 3.10.13 o
—— — = - -~ S ; —
5% Find the derivative of the func§/r(=2tan'1(2x).>7 z é&.v\ f( o)) \7 ,:_ i £ :/4)1,
- oy / -t ¢z
dy _ e
ol — R Sy /)
Answer: 4 \J _ "f“ (27‘) -
1+ (20° I_ 7 ( 7)
e
ID: 3.10.19 (—t (2%
[. ;70. Evalljlate E_h_e derivatiie of the following function. 7_:(/‘_"6 —?’( éﬂ) I: o / é// o

(s)=cot ™' (es)..\,'l" / :
o 1= (EY e
—cot "' (%) =
5 —— l et

e’

[+ &

Answer: s

1"'(.’25

1D: 3.10.39

35 0f 79 4/16/2019, 2:35 PM
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71. The sides of a square increase in length at a rate(of 3 m/sec. é é f/f’ ' sl _5_
a. At what rate is the area of the square changing wh es arﬂ'ﬁ__ﬁ’l long? 3 . c! ¢
b. At what rate is the area of the square changing when the sides ar{!h_‘n long?

a. Write an equation relating the area of a square, A, and the side length of the square, s.

j‘: .Il

Differentiate both sides of the equation with respect to t.

: s _A,fl_: 'y 3) 8

CAL2413XANSWERSIIS0FIESTA

The area of the square is changing at a rate of ] () when the sides are 15 m long.
b. The area of the square is changing at a rate of (2 when the sides are 28 m long.
— N
3 s

MOmss @ Om A - 2(2)(3) /6% )

O mis O mis d & -

O mPls O mils o

O m O m>/s

Answers p = ¢2
2s
90
(ym?/s
168

@)m?/s e T

ID: 3.11.11-Setup & Sclve

360f79 4/16/2019. 2:35 PM
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e -

- -
72. The area of a circle increases at a rate {f 5 cm? fs;x;_ié/
a. How fast is the radius changing when the radiosi 7

b. How fast is the radius changing when the circumference is 4 cm?

a. Write an equation relating the area of a circle, A, and the radius of the circle, r.

AT
(Type an exact answer, using n as needed.)

Differentiate both sides of the equation with respectto t.

dA . dr
ol (I S/ sl oy

(Type an exact answer, using n as needed.)

When the radiuséat/c;, the radius is changing at a rate of (N
{Type an exact answer, using « as needed.)

T .
b. When the circumference@igm,the radius is changing at a rate of | 2)

(Type an exact answer, using = as needed.
A-TF " .
M O em¥rs. (@) O em dJA =2V :‘-2:
O cm. O cm? /.
O cm/s. ) em/s.
O em?/s, O cm’/s.

Answers p = o2

2mnr

5

8x
(1yem/s.

5

—

4

(2)cm/s.

ID: 3.11.15-Setup & Solve
=21

1\

G) <
P

T af70 4/16/2019, 2:35 PM
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73. The edges of a cube increase at a rate/of 2 cm s the volume changing when the length of each edg@

cm?

Write an equation relating the volume of a cube, V dithe cube, a ey( )C T A
Tk .
L= P | TG
Differentiate both sides of th tion with th v ¢ de
ifferentiate both sides of the equation with respect tort: é’g -z 3G —;l“‘é
7 Q ) 0 he variabl < =
—_ the variable.
( (Type an expression using a as the var ) éu . 3 GO_) (2.)
qe
The rate of change of the volume is | ()] ( 1)
(Simplify your answer.) é v £ -~ 3( 3’) (’}J)
—
(1) O em/sec. () em®. Clé ‘?JU) (’2 )
O em?/sec. ) cm. A‘/ ~ (
O em? / sec. 0
O em?. C\

Answers y/ = g3

3a2

5400

(1) cm® / sec.

7/ID: 3.11.16-Setup & Solve m

L/74. Find an equation for the tangent to the curv-e_a_t-the giv:er; p.:oint. ‘7 - b} I T M C)("_ "4 (-_:) { : )7‘
e Yy Y- C) = ~H X))
O A, y=—)(2\x-i( | "j»-} - _r(-{()(‘f?/)
(B, y=-4x-9 7: ZK'—O -—- -~ —-y)( 7

OC. y==4x=-10 |

OD. y=-4x-5 7 - UI¥ ,_,}/}/ ~Y x- 3—r >
Answer: D.y= =4x-5 \q ("Z) Z,( 2) Lj —:-—-(-f)(_— S
24 < Slop >y

ID: 3.1-2

380f79 4/16/2019, 2:35 PM
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75, Attime t, the position of a body moving along the s-axis is s =t” = 12t” + 36t m. Find the displacement of the body from

t=0t0t=3. f(é} 63"‘/(6(‘—1-36{
OnTm  S@) — S0/

63 m 7
82: 37 m ((3) —1(2(3) T}€(3)) "‘—"5(0) —[2(0) 1'3’“0)):

I CORRC

Answer: A. 27 m L ’7 —_—D o

ID: 3.513 (7:// e e

0 ATTO

- e,
Uselmplicit differentiation t6 find dy/dx.

xy+x=2 (/\/Vu —fL /

oa -1 6()(7) -t é@@/f
OB 12 (1)) ﬂ‘fx)(?)'f = <

1+

-

Y

1+x 9"(‘ )(/ '_f'
1y )Ctjl: —(

X

Answer:A 1+y V’ [’_ _l"u]

4/16/2019. 2:35 PM
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% Find the derivative of the function. 7:_ ( O 71 (ﬁ)f——:;/— 7 [ ‘7
=log,4/9x+4 / =
B ji(u?aﬁ)(’fyi
9 Yz ZLCUJZ(%(*C/)

9 ( { ﬁ Kﬂ‘c/) /
O¢c ——m— . N
RN STy ey
T 9x+4 \7 I" L (5(- 7‘0) R
Answer: c 9 - L 6)(7‘(()}"7 (2)
2(In2)(9x + 4) ( '(_ (q ')
WLl (XD

\/B. Boyle's law states that if the temperature of a gas remains constant, th@PV =ahere P = pregssure, V =volume, and cis
a constant. Given a quantity of gas at constant temperature, if V is decreasing at a rate Q’f 10 in3/sec, at wha e is P

9

OA. m

O B.

increasing whencli N 50 Ibfin? and ﬁgﬂ_me"ﬁm not round your answer.)
50, P =c

O A. 5 |b/in® per sec [

O B. 450 Ib/in® per sec /(/;‘(/) h(/’/ip //__ B

Oc. %Iblin2 per sec (/) ﬂ/} 7 [v

O D. 181b/in? per sec j—g vV + P I_C <O

Answer: A. % Ib!in2 per sec 'JJE (?(y "f' (5.0/ (-/ 0/

ID: 3.11-7

—

Af nf 709 4/16/2019. 2:35 PM
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Lw "‘Vk max
9. Determine from the graph whether the function has any absolute extreme
values on [a, b).
O\‘
x
Where do the absolute extreme values of the function occur on [a, b]? é{b&)’ wlg i

(O A. There is no absolute maximum and the absclute minimum occurs at x=a on [a, b].
() B. Thereis no abs absolute maximum and there is no absolute minimum on [a, b].

me absolute maximum Gccurs at ¥=d and the absolute minimumoccors AX=@ on [a, b).
() D. The absolute maximum occurs at x=d and there is no absolute minimum on IERL i

Answer. C. The absolut axlmuT/gacurs at x=d and the absolute'minimum occurs at x=a on [a, b].
> e

ID 4.1.13

[ ; 80. Find the ltlcal pomlso the following function, f4 =X - s /

f(x)=2x =3x+1 //)/() - 9;](__ }74 ®)

. . 2
What is the derivat ff(x)=2x° - 3x+ 17 -

i rivative of f(x) = 2x° - 3x //’SZ) - ¥ —5
sl a A FX—1T O
Find the critical points, if any, of f on the domain. Select the correct choice below and, if necessary, fill in the answer box to
complete your choice.

¥x-3r+3 =073

() A. The critical point(s) occur(s) at x= . q K=
{Use a comma to separate answers as needed.) .

5
0 B. There are no critical points for f(x) '-'2)(2 = 3x + 1 on the domain. —_— « ‘(;

Answers 4x -3

B w

A. The critical point(s) occur{s) at x = .(Use a comma {o separate answers as needad.)

ID: 4.1 23-Setup & Solve

41 of 79 4/16:2019, 2:35 PM
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e / P j_ 7
Find the critical points of the following function. (X] - X 17X
2 /75(] = "J— {/j";(c}"r“q
f(x)= - 3 + 9x

// —~X7‘°T

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

- QL — ,(’L
J A. The critical point(s) occur{s) at x = /(7</ 6?
(Use a comma to separate answers as needed.) / 74 (3 ) — ( ;(JL

") B. There are no critical points.
/m = (30 (3-%)

Answer: A. The critical point(s} occur(s) at x = 3,-3 {Use a comma to separate answers as needed.)

oo 0N 3—X=o (=)L)

s s n ST &=
8

2 Determlne the location and value of th{ﬁﬁso ute extreme Values off on_'ﬁ@"r\ﬁﬁ'mﬂﬂm

f(x)= —x2 +8 on[-34] ‘(/ St 4 7‘5’
What isfare the absolute maximum/maxima of f on the given interval? Select the correct choice below and, if necessary, fill
in the answer boxes to complete your choice. f/
(J A. The absolute maximum/maxima isfare atx= . /
{(Use a comma to separate answers as needed.) f (;( / =—-X
() B. There is no absolute maximum of f on the given interval.

What is/are the absolute minimum/minima of f on the given interval? Select the correct choice below and, if necessary, fill
in the answer boxes to complete your choice. il '\j— ¢ Z )( — 5

) A. The absolute minimum/minima is/are at x=
{Use a comma to separate answers as needed.}
() B. There is no absolute minimum of f on the given interval.

Answers A. The absolute maximum/maxima is/are | 8 |atx=| 0 L
(Use a comma to separate answers as needed.)

A. The absolute minimum/minima |slare atx -l |

{Use a comma to separate answers as needed )

/[(0).7 0/ ¢ /(c{)-’a—/y) +7

2oy fo) =~ (V0 +F //y) ~(Y)%) +§
A-s) =~ 7T gy« —ror+ % T AT

fo)= 7€ 7 F/(_S—(_)f-‘/ﬁff

42 0f 79 | = e, 2235 PM
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83. A stone is launched vertically upward from a cliff 336 ft above the ground at a speed of 64 ft/ s. Its height above the N
ground t seconds after the launch is glven hys=- 16t% + 64t + 336 for 0 <t < 7. When does the stone reach lts xlmurn

height?
<~ ,(. . 71—_1———-4—
Find the derivative of s. ;i /6 é —f 7 é s 53 5 @rj

= —}ZC '7"69/’/‘ o
s'=l @ -22 éjP S'fél:'*}z -+ 6%
Pt S = =37 (1)t ~3e L
The stone reaches its maximum height at s. (l) = -7
{Simplify your answer,) _ — o
. H%(é/féﬁf: b6 |5 (3)= DU~ s
Answers - 32t + 64 —3L7GCY — - = et G
2 —31€& = — 6% = =32
—324 = ’_6_1 A—(’Cr-’xi)

VAB———-- S Pt AL f AT

84. Suppose a tour guide has a-bus-that holds a maximum of 84 people. Assume his profit (in dollars) for taking n people on a
city tour @1} =n(42- 0.5n)_:84._j_ {though P is defined only for positive integers, treatitas a continuous function.)

a. How many people;ould the guide ta a tour to maximize the profit?
b. Suppose the bus holds a maximum of 35 peo ow many people should be taken on a tour to maximize the profit?

'y — L
a. Find the derivative of the given function P(n) ﬁ, ’7/ - ‘1"2 4 O 7 Z Y

— -0
Pmy=l___ ﬂ/”/ < 42 0‘5_(2")
< 42—
If the bus holds a maximum of 84 people, the gmde should take i people on a tour to maximize the profit.
b. If the bus holds a maximum of 35 people, the guide should take people on a tour to maximize the ETE_@_-\
Answers -n+42 tfl—h = f/ JA" é“' AU//J
FL—-n-G2= oL howt,
42 /t’\fﬂ/«( 7‘111 Jmu’(( £ Uwi/
T YL AR
35 _ ,1 _ (_, Yz axt /

tfale . By [ peXt
Db
ID: 4.1.75 ﬁ?’o @—u:{ PJ' - o N

\/85 At what points'c does the an of the Mean Value Theore hold for f(x) X o} the interval [ - 17,1717

L ,
The conclusion of the Mean Value Theorem holds for ¢ = : f ) = = I N ‘L‘/}‘ - A

(Use a comma to separate answers as needed. Type an exact answer, usmg radicals as needed. ) il 3

Answer; EL _li QG" ’3’;:?’3 . éﬁj

-+r—
- o _ e gﬁg-zxv1~iﬁ

ID:428 - 3y \ N \f
| : _ 2L V™
(- FEAYD 3 289 =X <

(=<7 Y ‘ij | + (I
.

@)= () g

2
7).
(11 7 )%j— X

AT ~F TN
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- s
e,

86. a. Determine whether. the Mean Value Theorem  applies to the function f(x) = - 1 +x2 onthe interJ;\aI [-24.
b. If so, find the point(?}that—are‘gﬁéranteed to exist by the Mean Vg_llue Theorem. - :

-

a. Choose the correct answer below.

{0) A. Yes, because the function is continuous on the interval [ - 2,1] and differentiable on the
interval (-2,1).

() B. No, because the function is differentiable on the interval { - 2,1), but is not continuous on the
interval [ - 2,1].

() €. No, because the function is not continuous on the interval [ - 2,1], and is not differentiable on
the interval (- 2,1).

(0 D. No, because the function is continuous on the interval [ - 2,1], but is not differentiable on the
interval (—2,1).

b. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
) A. The point(s) isfare x= .

(Simplify your answer. Use a comma to separate answers as needed.)
) B. The Mean Value Theorem does not apply in this case.

Answers A. Yes, because the function is continuous on the interval [ - 2,1] and differentiable on the interval { - 2,1).

A. The point(s) is/are x = - % ! ‘ -2 f | j
o b

(Simplify your answer. Use a comma to separate answers as needed.)

ID: 4.2.21 /4\// =~ +/Y

L oix ) |
el ) ~(3).
/) ff*‘? 3 <
‘ﬂ ".fzf‘q)_ | ;0,.:-2 T Z;(
"("é:_' 1% 2
-3 &
£l = FEY < 14 5 =<
(1] —(-1)
N3
(-1 + (") — (AN,

(-1t L —— =
[ 1T

= <¥) - 71X S
vy — e TEEIVRAN

2
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87. Sketch a function that is continuous on { - 00,00) and has the following properties. Use a number line to summarize

45 nf 79

information about the function.

F(x) <0 on (= o0,3); f'(x)>00n(3,7); f(x) <0 on (7,00).

Which number line summarizes the infermation about the function?
‘__---\- -
f(x)>0 fx)<0 fix)>0 f'(x)<0 ffx)>0 f(xyel
) A, (
-10 0 R -
f(x)<0 fix)>0 f(x}<0 F(xi=0 f'(x)<0 1 (x)>(
O c. » () D. e e
-10 0 104 -10 0 10

Which of the following graphs matches the description of the given properties?

O A. ) B. oc.

A0 j/"o 40 j ~ 10 10 - ﬂ 10
2 2 X 2

Answers_— .- F'(x)<0 x>0 1 (x)<(
& <etisimimioimimimimiaiesisivsie s Onjimil-
B. ™0 d e




CAL2413ANSWERSIIS0FIESTA https /xlitemprod.pearsoncmg.com api/v l/print/math

y
1
1Y

B8. Find thexnt_g_ryala) on which fis mcreas jg and the‘wqtervalé on which it |@|ﬂg /[ﬂa (&

/ (X
)= =7 +x2 (K] = O 1< 24 =
Select the correct choice below and, if necessary, fill in the answer box(es) to complete yo‘tgmce J\
i
X =) NI
O A. The function is increasing on and decreasing on 3

(Simplify your answers. Type your answers in interval notation. Use a comma 1o separate (_/ O Q[\“
answers as needed.)

O B. The function is increasing on . The function is never decreasing. f ( —(] = l ( D = <S
(Simplify your answer. Type your answer in interval notation. Use a comma to separate eCy<Lis B
answers as needed.)

(0 C. The function is decreasing on . The function is never increasing. .// ( Nz 2(iHcd >0
{Simpiify your answer. Type your answer in interval notation. Use a comma to separate 1 Cresd
answers as needed.) =

00 )
() D. The function is never increasing nor decreasing. CCrcs: 2 ( ) \\

fy (Vt’\.,\l..) (0 m) __F"

Answer: A. The function is increasing on | {0,00) | and decreasing on {(—o00,0) .

(Simplify your answers. Type your answers in interval notation. Use a comma to separate answers as needed.)

ID: 4.3.19
LZ". Find thedctesvas on which f @ d the ftervals ftervals b whi e é_&:m\ R
ind the: s on which f is facreaging and the itervals bn which it is creasing. k
; Set )
f(x) =4 - 3x+2x° /\/ T~~~ A¥x y /(’() < 3F¢X =0
FP‘( r
Select the correct choice below and, if necessary, fill in the answer box{es) to complete your choice. /6‘ 3 977
9@( <

O A. The function is increasing on and decreasing on . S/J( 2
(Simplify your answers. Type your answers in interval notation, Use a comma to separate —
answers as needed.)

O B. The function is increasingon - . The function is never decreasing. d /
(Simplify your answer. Type your answer in in interval notation. Use a comma to separate .
answers as needed.) “\J 3

o . L . , G [ )=

O €. The function is decreasing on . The function is never increasing. = T
(Simplify your answer. Type your answer in interval notation. Use a comma to separate
answers as needed.) /[ ) T =3 £ (-//"‘I)

(O D. The function is never increasing nor decreasing. = iy

4 L
(Simplify -your.answers—:pre-ytoux.answers in interval notation. Use a comma to separate answers as needed.)

2 \ = ~
/4325 JE(.V'"?""‘\) (" % J[ﬂ) S

s : /_(.[_).'—‘— Sdotild
(%, 000 Flry=1>a

__'__F___,J__-r-*' / f:] Cf“o{i)

- | L% 7 EO &
3 3] | 495/4.,,; oD

Answer: A. The function is increasing on [- co] and decreasing on [- 0,

(5 Cragy
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e

Locate the critical points of the following function. Then use the@@m Derivative Test to determine whether they
correspond to local maxima, local minima, or neither. 2x T_ dox 2 o

1
f(x) = x° = 15x2 /!( ~ 3x " 52K 2x(x —/9)=
What is(are) the critical pomt{;}_q_f‘? Select the correct chonce below and, if necessary, fillin the answer box to complete
your choice. =0 o Ne=ro= o
3—— =2 0 X~ uTr>

) A. The critical point(s) is{are) x = : ¥i
{Use a comma to separate answers as needed. Type an integer or a sumpllf ed fractlon o
) B. There are no critical points for f. @ /f/ -/

Find "' (x).
/i \ - éfd)—]d - 0-3u= ~J°
64 -3 F {}0) A Gy QIUWI.». /\

What is/are the local maximum/maxima of ? 'Elé_cﬁﬂg correct choice below and, if necgssanfr-ﬁu—l Wer box to
complete your choice. Q KX a/{. X,-- )
f/

f'(x)=

© A. The local maximum/maxima of fis/are at x= (] = 6x~35

(Use a comma to separate answers as needed. Type an mteger or a simpilified fraction.)
() B. There is no local maximum of f. / (/J) - (({(O.} 9T (uo-Jo = 2O
What is/are the local minimum/minima of f? Select the correct choice below and, if necessary, fill in the answerboxto =~ O
complete your choice. C U mCni v W

) A. The local minimum/minima of f is/are at x =
{Use a comma to separate answers as needed. Type an mteg ra su'np[lﬁed frzctlon )

(") B, There is no local minimum of f. / L

/\.)

Answers A, The critical point(s) is(are) x = 0,10
(Use a comma to separate answers as needed. Type an integer or a simplified fraction.)

6x-30

A. The local maximum/maxima of f is/are at x= 0
{(Use a comma to separate answers as needed. Type an integer or a simplified fraction.)

A. The local minimum/minima of f isfare at x = 10 .
(Use a comma o separate answers as needed. Type an integer or a simplified fraction.)

ID: 4.3. TT-Setup & Solve
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91, Locate the critical points of the following function. Then use u\eéo_r;i Deri determlne whether
correspond to local maxima, local minima, or neither.

fx)=2-2x° f(<]7~ O—Y¥Yx
What is(are) the critical point(s) of f? Select the correct choice below and, if n

your choice. /LU . (( (’; 0

_) A, The critical point(s) is(are) x = (o _% - 4
{Use a comma fo separate answers as needed Type an integer or a snmphﬁed fraction.)

() B. There are no critical points for f. ; /L/"' o, C i Lc e / e
What is/are the local maximum/maxima of ? Select the correct choice . if necessary, fi (Bm! answer box to

complete your choice.

() A. The local maximum/maxima of f is/are at x= E ( 8 @]
{Use a comma to separate answers as needed. Type an rnteger or a simplified fracti

) B. i i : —

7) B. There is no local maximum of f / (‘___ {) ,__?( !) c/ SO e

What is/are the lacal minimum/minima of f? Select the correct choice below and, if necessary, fill in the answer box to

complete your choice. i
/[ ==41) 7 -v<I dec
) A. The local minimum/minima of f is/are at x =

{(Use a comma to separate answers as needed. Type an mteger or a simplified fraction.)
) B. There is no local minimum of .

Answers A. The critical point(s) is(are) x =[ 0 I

(Use a comma to separate answers as needed. Type an integer or a simplified fraction.}

A. The local maximum/maxima of f isfare at x = 0 l

{Use 2 comma to separate answers as needed. Type an integer or a simplified fraction.)

B. There is no loca! minimum of f.

ID: 4.3.79
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92. Locate the critical points of the following function. Then use the Second Derivative Test to determine whether they
correspond to local maxima, local minima, or neither,

f(x})= =3 +9x° +4 C‘/L -9 —f [27(../.0 /[/ Z - ?)( 'f/f}%

What is(are) the critical point(s) of {? Select the correct chmce below and if hecessary, fill in the answer box to complete

your choice. ....c,‘{ - /y)( .
—~[| 01
_) A. The critical pomtg"l;sr/ﬂ / 5 ’—IL i —7Xx ( X — 1) = >

{Use a comma to separate answers as needed. Type an integer or a simplified fraction.)
O B. There are no critical points for f. —x=o oA X-1=o

What isfare the local minimum/minima of f? Select the correct choice below and, if necessary, fill in the answer box to

complet hoice, / =
e your choice ,_:j_é - ¢ X7 <J7
_,3 -

ified fraction.}

() A. The local minimum/minima of f is/are at x =
{Use a comma to separate answers as needed. Type an mteger or a si

) B. There is no local minimum of f. X':‘,," ) Cri «Lu\ A I/J .1,} -~

What is/are the iocal maximum/maxima of f? Select the correct choice Below and, if necessary, fill in the answer box to
complete your choice.

() A. The local maximum/maxima of f isfare at x =
{Use a comma to separate answers as needed. Type an mteger or a simplified fraction.)

() B. There is no local maximum of f,

Answers A. The critical poin(s) is(are) x = 0,2 l

{Use a comma to separate answers as needed. Type an integer or a simplified fraction.)

A, The local minimum/minima of f isfare at x = 0
(Use a comma to separate answers as needed. Type an integer or a simplified fraction.)

A. The local maximum/maxima of f is/are at x = f 2 .

(Use a comma to separate answers as needed. Type an integer or a simplified fraction.)

ID: 4.3.83 /(;(]__ /7)(_,4/5 _ 444—,—:

//0)‘, ~/8(F + [] ud#’—/y""/7 >0 Con{/c‘;;

(/

f [ 2) (Y VFIF T T364/F = 7L o Cmcey
//h‘\x d}dw/\
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95. Consider the following function and express the relationship betwe’,n a smiall change in x and the corresponding change in

y in the fgrm dy=f’£x).;|x/ kﬁ c!j ~ %()(, cl p
f(x) =2‘)§_-F5x — ‘; S .
' - I 5K
dy = {___—J dx /147 G L
) X

Answer: gy2 _ 5 c{/ G X =
= 5 ——
) d

AD: 4.6.67 Ay = ( G« —EC'/_// N
D: 4. g S -

86, Consider the followingfunction and express the relationship between a small change in x a cnding change in.

pinthe oridh =) 4. ) For= Co (70 A dy = 16%Ed
7[(;,(} = =C5C ¢ (7}‘) = (7’(“) l_/
Sl < - Csctn) (7)

o)~ =7 cse (3
du

D460 " -~ —C 5(1"_(7:4)

[/97. Evaluate the following limit ;e I'Hopital's W?’t it is convenient and applicable.// S5 ﬁi( ] '
( ot " <

f(x)=cot7x

dy= ldx

Answer: _7 cg¢?(7x)

~ 5sin2x R 2 X
xlTo 3x I/ 7
. —_— =z . ‘ | - SCos(1<) - L
Use I'Hépital's Rule to rewrite the given limit so that it is not an indeterminate form. /7.
5 sin 2x ( —~2Q 3
tim = lim )
3x
x—0 X

o s €Caus (7<)~ L
Evaluate the limit.
9( — 0 3

5s

in2x
lim = {Type an exact answer.)
«—0 3x

Answers 10 cos (2x)

FTOr T 23 P-
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98. Use a calculator or program to compute the first 10 iterations of Newton's method when they are applied to the following

function with the glven initial ap roxlmatlon {_ o ( o)
i~ o T P
f(x) = x—12© /ﬁ(] X £,
k

- £(«)

——| g (' ST ,f((a)
0 Cf,c:oaao 8 (3.YCH L z_/
1 D.500050 EVETRI S G A (%) ~¢
2 Bedetlge CWICITS 2 (e
3 39640l 9 LYIIE xx 4548
4 346yl 10 [3, 969/ T ) 7
5 Layeyfal (=¥ 7

(Round to six decimal places as needed.)

Answers 4.000000

3.500000 ﬂ?__j_")

464102 - 3.5

3.4641 )(Z 3 /1 (3¢ )

3.464286 — 7

3.464102 ,( Ll — Q/SZ_—-_LL

3.464102 — E 2(3.5)

3.464102 [2.L c—/

3464102 - )(1, 3.8 7,_0

3.464102 )( 2 e ,_,741(:)——

3.464102 (n !

03 57/ 29c7
/‘( - 3: r R
ID: 4.8.13-T =
= _(._ )( — 3 o6 G2 J /o e -

~A,

520f79 4/16/2019, 2:35 PM
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99. Use a calculator or program to compute the first 10 iterations of Newton's method for the given function and initial

approximation.
fix) = 45|nx+x+1w (/;// SO € | }//: o~ }%
?E?;n :;?t::::?:l tj:tlﬁihe final answer. Then round to six decimal places as needed )0(‘ (.7 — ___..—-'/[( l..Z)
K X K X Al
. f ‘ ' )= (g — F52 ((.2 )0V ~}
3 B Yeos (1.2) +/
4 9
5 10 | ,{/z_/,zz_o 2j77/6
Answers - 1.220218
-0.201082
0.455144
-0.201082
=0.244542
-0.201082
- 0.200905
-0.201082
-0.201082
=0.201082

/D 4.8.15-T

M : = 7
100. Determine the following indefinite integral. Check your work by differentiation. J(qx — X ) J

I(gxw_ng) " 7 x 174/ - T
2 — 2 2 C =

I(wa = 5xg) dx =I {Use C as the arbitrary constant.) a |"3 Gl Y,
P AN v Gy

Answer. 18 10 i 7 790

A
« X

4/16/2019, 2:35
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o //Z_/J 2 3x %, 2y
101. Evaluate the following indeﬁW —];x_ 2 — 3 X ; < _?/-,? T 3 =
: (.

3 ~/ Ly |
— +34x | d 1 )/
[[2)e JEx = +3x M=
3 "'/'{'( ;’-(' .':.
J-[—+31/;]dx=[___1 3)( s BX 2/ .'
A = € ~+C |-
{Use C as the arbitrary constant.) _-z( -+ ( ﬁ +( ."I
~k iz b & "
Answer: 3 1t z v |
By/x +2x7 +C -3%(‘"7_" -t —Sﬂé—‘z’"” r -
1t 2 2] 2 };’
/. o /
ID: 4.9.25 BX P 3K e L e
" — e -—
%z”'_""_‘"“""*-*---—-——;::f;t_: W ror e
" Find | (Bx+5)%dx. - ,
In I(X 5)"dx e S\(GJ(’{,\-)(C/(,J—\")AK:
j(6x+5)2dx= | y A AKX Ly dy =
(Use C as the arbitrary constant.} SBG < L._,(. 607( s i JA -
Answer: 12,3 + 30x% + 25x + C z#f :
26X L 69X L peq+C
2el 4
" ()
AL B Vi 98 o IRVPY: R
103. Determine the following indefinite integral. Check your work by differentiation. —
3 (4
I4m(12m2-7m) dm = S 43/47 - 2—5/’7 é,m =
L, 3 7
I4m(12m2_7m) dm= | {Use C as the arbitrary constant.) j/_fi__/_’_q - Q___,/M ~ C -
37| Zrf <
Answer: 28m? & 3
t2mt - S+ c 5 ___.Zj’/’n,{_C:
.Y 3
ID: 4.9.28 '’ L, 3 s
j m
a2 e N
_--/

54 of 79 4/16/2019. 2:35 PM
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104. Determine the following indefinite integral. Check your work by dtfferenil/atlo% 57< o (f( _)5 —f? - _fC )

12 -
_[3)(3 +4x s +9 Jdx
1 2
JSxa +4ax S +9)dx=

Answer. 4 1
3

8 3
Zx +12x° +9x+C

P o [2X

ID: 4.9.29 ( i -
;/105_ Determine the following indefinite integral. Check yourwoFE?diffemwtiation, 1/ *“5(‘"%/ —
| < A<
[ 345 o nd J%X d¢ z] = <=

I 3‘%/; dx=
Answer: 5
?x" +C
iID: 4.9.30 =
: = = = _ ey e
[AJB. Determine the following indefinite integral. Check your work by differentiation. f j(’\ y|
X =
I(5x+9)(1 -xyox = j‘ X —¢X —(—- ¢ — 9 X éd - )(n-r{
L x5 4 Tt T ET
J(5x+9)(1—x)dx= } S SX X G
{Use C as the arbitrary constant.) . )(2'/[ +{
Answer: 5 4 /E':{'""—-'if_)_{____f 7)(_&6;
—Ex —2x +9x+C { [—t]
5 X 7
- L
ID: 4.9.31 = - ¥X

. - TIix7 C =

3
e " e
Q)( — 2 +T X7 ¢ :_;__,f-«>

550f79 4/16/2019, 2:35 PM
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o, - j Z5ds
j\gxys-—— gxq g(‘x =3 )('“BX -+ C "‘/

107. Determine the following indefinite mte
.'

J‘ 3x° - 6x*

x:" dx

3x° - 6x* j\ — X éﬂ - I.I

T 3 >( e/ "'J

(Use C as the arbitrary constant.) 5 24/ 6 7( C _ JI

Answer: 3 _ 342 4+ C "2 { I G

L
3% e él-?f-— +C =
f_
Sg s 3

o B

ID: 4.9.35
e -
[//108 For the following function f, find the antiderivative F that satisfies the given condition. f: ( O) = "{(U)
O — 2(” ~FC =

f(x) = 2x +3sinx, F{0)=3
The antiderivative that satisfies the given condition is F(x) = 3
—3rc — 3
S\&\JV( S}){’f})”’(xjé'( —5,T-C—(-i—':_ 3+3
— a—‘ LY .
) = GX™=3CA+C

Answer: 1 4
—Xx =-3cos x+6
: /F(/‘L,zc_.p-zcw)(»f- c
‘f/¢ = ‘
e e L
5’ 2

ID: 4.9.71 F{X) _
9. For the following function f, find the antlderwat,ve F that satisfies the given condmon /_
o] c2(1) TO¥c =
]

L/°
FO)= /, 2 +0-FC =
er( —¥ = L

fluy=2e" +5: F(0)=8
The antiderivative that satisfies the given condition is F(u) =
~~
C =8>

jffo\) clb\ 1}526 —f'--s*t‘ﬂJ
+ 54-+¢C FU) =L € 549+ €
| =REC +Su—4 G)

Answer: g .Y+ 5,46

ID: 4.9.74 r(u“ .
\7L Fro) =2 Ctsmec =0
110. Given the following velocity function of an object moving along a line, find the position function with the given initial
position.
S ved ¢ = Smf +9¢-7d¢
& I

v(t) =6t2 + 4t-7; s(0) =0

The position function is s(t) = : 5 /é) ’______
5 ” 3 2+ | [/
W26ty ¥ 7erc

Answer: 2¢3 4 o2 - 7t

SH#)= 2¢°+ 2¢5~7¢r C

SO= 20 +2 /)% 95+ = ©
5

)= 26—t 2€%7¢

ID: 4.9.95

——

O’T(_' O —~0 +~¢ =

162049235 P

Afvnf 70
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/¢
= J
(A 1. Find the absolute extreme values of the function on the interval. A’ ’q = )(/ b=
/ J J
Foo= ¥x, -8sxs27 ﬁ'/:q: —g)( i

(O A. absolute maximum is 3 at x="-27; absolute minimum is -2 at x =27 //{A/ = ‘é- ’( =0

() C. absolute maximum is 0 atx=0, absulnte—m:mrnum =2 at Xx= -8
{ D. absolute maximum is 3 at x=27; absolute minimum is 0 at x=0 f/f)( S wvAa GL( _‘:_i(:
!

= ; o &, =
-—-¥ X-—: -\j 3x 3 1{ /
Answer: B. absolute maximum is 3 at x=27; ab inimumis —2atx=-8 K - 27

f-0)= 8 =) F10)=V7 < O Fen= 7 6 )

/ID 4113 byl Mara absil A [

A

f(a)
——=

L]
i : 112. T 'f(
Find the value or valgdes of cthats fatnsfy the equation

the function and interval.

f(x)=x2+3x+3,[-23] /()///' Z{’-t‘ }-fu

O A _1_1 /M/W
o202
1 _'_{,13_)_:—{-6/: Ix—3
OB 0,5 J— 4
»fafc.; A2 =1V 1ess
2,3 @ -(h
Answer 1 ( (y *3(’5) 45} _Lt__z)_i._}ﬂ’ﬁ—/ It 3
“2 3t
ID: 4.2-1 (‘i"“‘l""_’));(‘f"é'f;} ¢ I}
I =

(20 —(1) < W44
5
[ A

=
G o 1~
¢ - =V

“"'—-—__
7 af 79 4/16/2019. 2
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113.
Use the graph of the function f(x) to locate the local ) A. Local minimum at x = 1: local maximum

extrema and identify the intervals where the function is - at x= - 1; concave down on ( - 00,00)
concave up and concave down.

) B. Local minimurn at x=1; local maximum

. 10 at x= - 1; concave down on (0,00);
LUCL( pres 8 / concave up on (- 00,0)
(.-l / 6/ [ ¢ { rn ( 'f“f'é. Local minimum at x = 1; local maxinium:
4 j('.\ L’) - ‘\__R at x = - 1; concave up on {0,00); e
. : x “—concavedownon (-0} -l
108 6 4 25 246 810 D, Local minimum at x = 1; local maximum

at x= - 1; concave up on { - co,00}

Answer: C. Local minimum at x = 1; local maximum at x= - 1; concave up on {0,00); concave down on { - 00,0)

ID: 4.3-9

= S Sy e o —— = e ———— -
l : 114. From a thin piece of cardboard 20 in by 20 in, square corners are cut cut so that the sides can be folded up to make a
box. What dimensions will yield a box of ?axlmum volume? What is the mammum volume? Round to the nearest tenth, if

necessary. Vi = X¥(Zv— 1) [T~1.c) Vﬁl\ {11 —/vo X THw =

Vet = (0 = S ~vo X vy )
A. 13.3inx13.3Inx6.7 in; 1,185.2 in> Ve = )((t',d_; —F ,(.f-%('(-. (31( — Y0 X ttw) =

OB 133inx133Inx3.3in;: 5926 In° VK| = a0 X — 70,(‘“;‘%( V@K"‘"")G" 1 =
O C. 67inx6.7inx6.7 in; 296.3in> v = x> i&(ij)( I~ o oA >(—~/u‘z_>

oD 10.0inx 10.0 inx 5.0 in; 5000|n@g ’ZY . /Gux_ﬁ_zwgf 32(2’:;

’ _""IW“I Er,(——/w-fO ;_’,_ 1
nswer g 13.3inx13.3inx3.3in; 592.6 in ——————— C{t%
Mok of Yz ~3b @} LYX"/(:Q ¥ _
D 4.5- =7, 3}59: V”(L;-J)le/(f_}é)-—/‘ou' g([)) "/bu'? "U‘/GU:—-JC/<{)
Lﬁw. Solve the initial value problem. j‘ ds = rc"/‘(@/ - ‘5""@) &{
x ‘5": St (&) + Coﬁ(é/"f'c___
= cost- sint, 5[2] 7 y{/,a - 5!"!(6/’ + Co s/~ C

Ty = -
(O A. s=sint+ cost+8 ‘;(%—'-)_ St (CZ) ~+ Con (l}_—) +C =7/

N —
j‘ s/ foly,

(O B. s=2sint+5 -+ _
{)C. s=sint- cost+6 / O -+ C ~}
() D. s=sint+ cost+6 N 7 Cos (’[A) P

Answer: D. s = sint+ cost+6 /féf-C7/(
L =c

ID: 4.9-16 (d(é,?** ;ﬂ' 'é/'f'fé/f/g —f‘C
AR = i &/t COSC/ TG _

——————

580f79 — s 4/16/2019, 2:35 PM
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116. Suppose an object moves along a line at 18 m/s for 0st< 3 s and at 25 m/s for 3 <ts 5 s. Skeich the graph of the velocity
function and find the displacement of the object for 0 st <5,

Sketch the graph of the velocity function. Choose the correct graph below.

A, ) C. ' D
v v .
= 304 = 30+ - 130
E 1 —e ‘E 1 —s ‘g
= . z — z
- 8 ] g
g | 2 . £
0 — ———— 0
0 5 t 0 5t 0 5 1
Time (s) Time (s} Time (s} Time (s)
The displacement of the object for 0 st=5is m. {Simplify your answer.)
Answers vh
= 30-
L_"‘_‘ 4 o—e
E. —
g
2
Ot ———>
0 5 1
B. Time (s)
104

ID: 5.1.1

20 ~FT0 4/16:2019. 2:35 PM
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117.
Approximate the area of the region bounded by the graph In which graph below are the selected points the left

of f(x) (shown below) and the x-axis by dividing the interval  endpoints of the 4 approximating rectangles?
[5.9] into n = 4 subintervals, Use a left and right Riemann

sum to obtain two different approximations. Draw the 3 A. -~ B.
approximating rectangles. - '

Ay 8
1 6
84 4
2
0
6
G,
4~
8
6
2 4
2
X
0 . T . —> 0
0 2 q 6 8

Using the specified rectangles, approximate the area.

In which graph below are the selected points the right
endpoints of the 4 approximating rectangles?

O A, O B.

O ki B D

[ T S S 1 = -

02468

Using the specified rectangles, approximate the area.

I

A0 nf 79 4/16/2019, 2:35 PM
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Answers

SN e O

] 623
Db 02468

16

ID:5.1.9

£V afn 4/16/2019, 2:35 PM
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118. Evaluate the following expressions.

£ A FT0

(a3

16 5 8 5
k b. Y (3k+2) ¢ 2K d. Y (3+n?)
k=1 k=1 k=1 n=1
4 3 g 7
> 4m9+4 f.) (51-6) g 2 k(6k+5) b Z sm—
m=1 ji=1 k=1

16
. Z k= {_ jﬂ | (Type an integer or a simplified fraction.)
k=1

5
5 Z {(3k+2)= 5_": 5 (Type an integer or a simplified fraction.)
=1

=

K = 7 > </ (Type an integer or a simplified fraction.)

k=1

5
5 Z (3 + n2) = 'E o2 (Type an integer or a simplified fraction.)

n=1

4m+4 S,EF'

5 -

(Type an integer or a simplified fraction.)

© M-

g Z {5j-6)= [7 (Type an integer or a simplified fraction.)

j_

Mvp

k(6k + 5)= { [ 3§ (Type an integer or a simplified fraction.)

=
L]

1

m - -_ ﬁ: P (Type an integer or a simplified fraction.)
J(,{S( jrc ""‘n‘a‘h Gﬁf{ck/cl‘.

IIM‘\I

hetps://xlitemprod. pearsoncmg.com/api/v | ‘print/math

Answers 136 [ /47(7/4/ Su M/"*ao‘m-—; g ©#) /Fr-

55 . /6
204 \ 5 (k) = /76
70 x\x -

56 T—

9
12
1935

ID: 5.1.49

4/16/2019. 2:35 PM
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f‘/ \,
119, /7 \7? U

The functions f and g are integrable TI If(x)dx = 6,; J-g(x)dx =3, and If(x)dx = 4, Evaluate the integral below or state

3 3 4

o

that there is not enough information.

3

= I3f(x)dx
7

Select the correct choice below and, if necessary, fill in the answer box to,complete your choice.

3 e 3 6‘)(()( T
DA - Isf(x)dx = (Simplify your answer.) 7
7 1
3 SB /o[) ‘l )( =

() B. There is not enough information to evaluate - _[3f(x)dx. 2
7 7
L ru
3 /rsd X =
3
Answer: A, - _[3f(x)dx = 18  (Simplify your answer.) 3 ( 6) =
: I “\

(77

ID: EXTRA 5.18 )

3

120. X b

d d T ~,
Evaluate ajf(t) dt and a*_[f(t) dt, wher@are constants. .
a a :

d é =
ax fit) dt= ,g’:?_ {Simplify your answer.)
da
b
df .
I f(t) dt= O (Simplify your answer.)
a

Answers f(x)

A1 aF 70 4/16/2019. 2:35 PM
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121. Evaluate the following integral using the Fundamental Theorem of Calculus. A .
6

Discuss whether your result is cons}stent with the figure.
24

/ .
I(x - 3x+4) dx /Z'gf_ Plz{':b()/@ :\
20 s
(Cu 30K va)) = (g)f; (DY )\
(—L — Z +‘/) (V) =
(.L(_ZZ).—?(})—( C’/G) ) 5

Is your result consistent with the figure?
T ) (O) =

(x -3x+4)dx-—

th_n

() A. No, because the definite integral is positive and the graph of flies below the x-axis
{0 B. Yes, because the definite integral is positive and the graph of f lies above the x-
() €. Yes, because the definite integral is negative and the graph of f lies below the x-axis.
() D. No, because the definite integral is negative and the graph of f lies above the x-axis.

Answers 17
6

F(Xt“ﬁx—ﬂ/) {« —
O

atf (+f

X —3x ~(-Y7)u/ :

S ___-_'_‘———---_._____‘_\_
fd nf 70 4/16/2019, 2:35 PML.
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122.

7ni4d

Evaluate the integral I (sinx+ cos x) dx using the fundamental thecrem of

-n/4
calculus. Discuss whether your result is consistent with the figure shown to the right.

in/4

j (sinx+ cosx) dx=
-n/4

Is this value consistent with the given figure?

() A. The value is consistent with the figure because the total area can be approximated using a

rectangle of base = and height sin{x/4}+ cos(n/4)= ﬁ .

L

htips://xlitemprod.pearsoncmg.com/apifv 1 /print/math

V=SINY + Ccosy

() B. The value is not consistent with the figure because the total area could be approximated

using a rectangle of base m and height sin (n/4) + cos (x/4)= ﬁ

(0 €. The value is not consistent with the figure because the figure is a graph of the base

function, f(x), instead of a graph of the area function, A(x).

{0 D. The value is consistent with the figure because the area below the x-axis appears to be

equat to the area above the x-axis.

g _ | d
Answers 0 K J\ [S “"/“() £ jﬁd) X
o 5,

The value is consistent with the figure because the area below the x-axis appears to be equal to the area

above the x-axis.

ID: 5.3.24 g/
&

=
/-—u;x —Pjrap()) /’%f:
-7

(~os(18) +3(F))=((~cos (Z)+5(T))
'7707/‘—'5707y "'/'“;737| _—5707’):
(—-/o‘f/v L) ~l¥yl) =

A8 AFTO

—lYlve /.Y =

f

AITANNG 735 P



123. Evalua_l-e the following integral using the fundamental theorem of calculus. Sketch the graph of the integrand and shade
the region whose net area you have found.

CAL2413ANSWERSIISOFIESTA https://xlitemprod.pearsoncmg.com/api/v1/print/math

1 (2('4-24-474 (L )(J/-//

) (ﬂ (1 =s(0) ” ( @)T (5)7 (D)
[———'\ ( +I __]) __(-—L?.,—‘i—rq)‘—

B(J}_,T),—(-—-ﬂ/rf/{'fﬁ)
G- HH) - (D7

2
oc. 3 : O D. Jg"%" (/?)

j ID: 5.3.25 e = : ;

L,/124 Use the fundamental theorem of calculus to evaluate the following definite integral.

i+/ .3*.
5x +4) dx - ( - 9)(\ /() -
(52 ex) /)
_[(Sx +4) dx‘:/((B')_’Lc/(B))——— (,C\)’_f 9,(0))__
(Type an exact answer.)
(; 312 3~r‘//3)) /0 +0J =

o‘ﬁu

Answer: 57

ID: 5.3.29

‘\‘
PRI T 4/16/2019, 2:35 PM
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125. Evaluate the following integral usmg the Fundamental Theorem of Calculus. Ci

I(4 X)(x - 9) dx J(%( 3C:v—,(.-f-‘3,():\.,< '—'J X —f I;J( ~2¢ dx

5 = 2( 12X -%A/
_[(4-x)(x-9)dx=_ z -__ _{; ___J( 76K )/

}
Answer; 125

Q+13£i) —3@?)) (,Z)+/J(V) 36 (v) =
& /__739 /ar;__%v} (-—ctf ;_g_g /V‘f)_

ID: 5.3.41 f&’(?- —f—./”‘)(f 3"(5)) ( £)+ aa?/] _/I_v’_(/—éjjc_

(Type an exact answer.) (

126. Find the area of the region bounded by the graph of f and wuﬁ the given interval.

(x) = x2 - 45; [3,4] J(«gzr = % — er/ Y

The areais | . {Type an |n}leger or a simplified fraction.)

Answer; 88 ((,Z ?5—(4)) (Cj -—-c/’&'(?))~_

3 /7
-18) ~(4- 57 "

L P Meu porz) - o MRy \ATS

L/1;7 Simplify the following _ea;ﬁ'}éésggn. i Gy '___?‘32 = fos (' ?ﬂ"? ﬁ-;i

) 7 z T F 5 2
%J.‘Jtzﬂ dt

—JH"":’& J(E:— \ _.

Answer: _ 2+ 1

ID: 5.3.67

ID: 5.3.75

B _'_"‘“‘—-h—-h._.________‘___‘_h

AT nf 70 4AR2019 2235 PM
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R Ldp =
128. Simplify the following expression. ; — - \

3

d dp

3

4
dx
{
10P % ()(ﬂl,

»

41— J . (3’{ 1 ) :
dx T p2 — / G l
Answer: 3 z.?-(—-— —
< xé
ID: 5.3.77
e s e =

129. Evaluate the following integral.

p B, 20 /
I(x- 52 dx ( X~ 5) g
0 2 /o

g a3 Y
I(x—S)de=T_-__| g____;_)_ /o i

(Type an exact answer. Use C as the arbitrary constant as needed.)

Anawer, 124 (q,_;j ,:/

3
3
ID: EXTRA 5.57 %); — (;_52 ~

3 i

- 7

’/ -+ 127
2 3
.-/'—f/l),
b

_F___h-.--_-“""""'—\-.
““-.__.____—-—-—'_'_'_._._-_-_‘_'—._-_._-_-_-_ T

L9 AF 0 AN67019 338 PM
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I/O Find the average value of the following function over the given interval. Draw a graph of the funcj
average value. \

f(x) =x(x-1); [5.7]
G \e

The average value of-the function is f= .

Choose the correct graph of f(x) and f below,

ot S L
Ty TR MHE-—2:15 P
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131, The elevation of a path is given by f(x) = x3

x? — 3x< + 2, where x measures horizontal distances. Draw a graph of the
elevation function and find its average value for 0 2x s 4,

Choose the correct graph b

DA o cC oD
Bix} fix) Alix)
2 5{ . 5 g
ey
2 2 4
X =
. 2 -20-

{Type an integer or a simplified fraction.)

2
/ ID: 5.4.34 I
e — — — —1;————1__
l/1r32 Find the point(s) at which the function f(x) = 5 - 6x equals its average value on the interval [01] S M t.( J(
a

The function equals its average value at x= '

= SaA
{Use a comma to separal??fzfsneeded) _{ (57("3"'// b -—S'-\G%K::.:_? — \
L
/q L (swg) - 3004 = (-0

v/ L2 ~49 — 4i)= ‘?/—ZD” —0 3

Answer: 2 4~

ID: 5430 9

I2x(x2+15)7dx = S@%’/S)?{&() cl_,( =
¢ 7
B e R AL

{Use C as the arbitrary constant.) Vadl B

4
X /57 -
Answer: ll:x +15::| e ( 7 C -

ID: 5.5.7 &‘L ()(’f’/S') “f" C — -

e LU o T |

AR THA-RAA
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134. Use the substitution u=7x%~ 1 to find the following indefinite integral. Check your answer by differentiation.
2
I14xcos(7x2-1) dx = J\CU} (7)(“[) y‘y)‘-;‘ JJ\ -

7~ L
I14xcos(?x2-1)dx={ \/ Sl‘/) (7}(‘() -1 C
{Use C as the arbitrary constant.) ¥

Answer: gjn (7x2-1) +C

/ ID: 5.5.8

%35' Use the substitution u = 7x> + 4x to evaluate the indefinite integral below.

1(14x+4)47x2+4x = S\}7>( L x (/‘t/)c.,pc/) < =

\Write the integrand in terms of u. S ﬁ{’é—f' o ¢ )%._ (/v ot (/) A K =
I(14x+4)J7x2+4x dx=I( ) du ,(zl_(/
Evaluate the integral. 7 )( 1’{ VA)

r -+ . <
J(14x+4)\/7x2+4x dx=| ‘Z’f’ l I,.(. 2z
{Use C as the arbitrary constant.) 1 2T L
Answers sfu rT & 1 - -
v 3
L ¢+ &
e Z I
-2— {sz + 4x} ¢ +C 7 v %< 3/1__
+ %X _
(% T
ID: 5.5.10-Setup & Solve 2 e -
T~ L = ... SO

Tl ~FTh

416019 235 PM
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136. Use a change of variables or the accompanying table to evaluate the followmg indefinite integral.

o X ’___ 2 N i cl o
.|-82x+7 dx = 7 ee(_f - X =
2 Click the icon to view the table of general integration formulas. 2X
Determine a change of variables from x to u. Choose the correct answer below J\ e ¢ ( C{( -

O A, u=2x e "l" o
O B. y=e&

o vacnar -
o /Z,,[C’ ?!_74 C,/

OD, u= 1 et
Z/Mﬂh__%_

e X4y
[ | —%”44 -

Evaluate the integral. -
. / FAfFC -
J. o 2 e —] y

e +7
{Use C as the arbitrary constant.)

Write the integral in terms of u.

e N S

2 General Integration For@ o

— e

T —— —— e,

ff“" cosax dx=_sinax+C sinax dx= - —cosax +C N
f . . 1 . = __HH‘
seczax dx=—tanax+C csczaxdx= -—=cotax+C .
.". o a o a \
¥ 1 I 1 \
{ sec ax tan ax dx=;sec ax+C cscax cotaxdx= -5 ¢s¢ ax+C \
| d J \
il [ ax 1 ax [ 1 :
| e dx=;e +C bdx-l—B-b +C,b>0, b#1 /
J f
\ F dx 1 . _1 X c J‘ 1 X C as0
\ =—tan —+ =sin —+ ,a> 4
I'l.ll\ N az + Xz a 4‘} a
-~
‘*\ i dx 1 ’ . 8 St
————=—sec +C,a> "
\» X/xz_az = s =
e B e
Answers ¢ yze 2 +7
1
2u

1
S [e+7]+cC

EL L 46018 335 PM
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ID: 5.5.44-Setup & Solve

% Use a change of variables or the table to evaluate the following definite integral.

Vi
xl12
- -)‘-_5 Cos(ex)(2) d ¥
€0s 2x dx ==

0 O /ﬁ/
2 Click to view the table of general integration formulas. 7\/_’ S (Z;é ) / 1. _
n/12

I cos2x dx= I (Type an exact answer.}) / ( 77—) _L ‘ / _

@eneral_lntegratiorLFor;-H%;J - 3,& S74 ( _7.\{_7'-/; — < S+ f-O/ =

f,-‘----- 1 '._ = -_1-_—‘——_
] cosax dx=—_sinax+C ] sinaxdx=-;cos§f*ﬁ*-.__ / ,{) . [/‘6) —

1 : TL
seczaxdx=;tanax+c csczaxdx=——cotax+C

J J a \
r 1 i 1 \ v —0 =
sec ax tan ax dx=;sec ax+C cscax cotaxdx= - escax #C ?

1 i 1
J.eaxdx=*-eax+0 b¥dx=—b*+C,b>0, b#1
a d Inb
dx 1 —q % dx . -1 X
> 2=—~tan Z+C ————=sin —+C,a>0
32 +x a a a2 - 2 a

Lomd

Answer: 1
4

ID: 5.5.45 i

=Aa L nee ANAN0 35 DAY
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CAL2413AMSWERSI150FIESTA
138. Use a change of variables or the table to evaluate the following definite integral.

1

IS e X dx

0
4 Click to view the table of general integration formulas.

1
(Type an exact answer.)

J"B e dx=
0
(;General Integration Formulas >
: 1 = 1
cosaxdx=—sinax+C sinax dx=-—cosax +C P ey
- u a J a e ™
.l(/ [* 2 1 i 2 1 ;
{ sec axdx=;tanax+c csc axdx=-'a—cotax+C
[ L
|I|l & ol \-\.‘
iI sec ax tan ax dx=;secax+C cscax cotax dx= - ¢s¢ ax+C \
| o o
I [ ax 1 ax [ X 1 X II'
eVdx=—¢" +C b"dx=—>b"+C b>0, b#1
J a J Inb
[ dx 1 -1 [ dx - X
\ 3 =—tan —+C =sin —+C,a>0
..___. Y 2%+ x o 32 _ Xz a .
l‘\l\__ [ dx 1 1 X = . o
=—sec ;+C,a>0 s in secen ==

O
— = 3

ID: 5.5.46 | ’
B ey R
[. _

’QY%@ = 2¢ —aMm-=

5
2\¢ =,

/
y
€F / S\( _

ARG D35 P
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139. Use a change of variables or the table tn evaluate the followmg definite mtegral

— 4 c( -
a(o-x*)ax = ’S\ @ )/)(‘?’()q 7‘{ ,
~| (‘f—X) /a _

Q‘—-—h

5 Click to view the table of general integration formulas. [
, (o) /! =
J 3(g-x4) — X o
4x*{9-x")dx= (Type an exact answer.) P . 2
—_— & _ P ¢
Yo e e (G — /DS 1l ©)")
P B ______—————" —
‘5; General Integration Formulasg__:‘,,u 2— .
i 3 — 1 — — X -.-___\_\_\_-__T_ .L —{ (qn’_o)é-_-
cosax dx=—sinax+C sinax dx= - —cosax + Ci'- ) —_———
J a o a 2_- 2.
/ seczaxdx=ltanax+c Pcsczaxdx=-~1—cotax+c / (q‘)L
[ ’ . ‘ @ (;Zl ,———-{""" -
| = ~
]l secaxtanaxdx=%secax+c csc ax cotaxdx=-%cscax+ 2’ _( (,7,)
m o Z_
. 1 ~ 1 g ’L__
\ ePdx=—e+C b dx=—b*+C,b>0, b#1 z,
J a | inb 5{
. d 1 " t;
S -1X o =sin_1§+C,a>0 "'é; ’r’ ‘-j:-
-G ¥l

Answer: 17

/L ID: 5.5.47

140. Use a finite approximation to estimate the area under the graph of the given function on the stated interval as instructed.

f(x) = x2 between ;ﬁ;ﬁd X =2 using a righﬁgﬁm with 0 rectangles f equal width
s ? - (2,¢)
1

O A. 45 A'f/"f

S (}7 )+ (fl‘f) =

Ob. 25 [ Y% -
Answer. C. 5 g .
o
ID: 5.1-1 =
e g —

e 411617019 735 PN
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141. {2 W 2 2 L

Suppose tl'i&t If(x)dx- —2; ind _[af(u)du and I - f(u)du. &\ —_ 4‘4) A W =

-\\\~1 /’Z 1 I| ' .
O A. - 53 fa) dy < F'f i j\ feh du=
OB 32 ' |
St 1) Awda= ~ () =
S T
e e ¥
Answer: C. -6; 2 - i

!
z2() = il
/ 1D:52-12 @ R

142. Find the derivative.
x

d J‘ 9
™ 16t7 dt
1

16 45 16
A —x35-—
OA gx7-3
O B. 1gx°/2
32
OC. TXBS

e
Answer. p gx'-%4

ID: 5.3-18
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143. Evaluate the integral using the given substitution.
Cos (10" ) d < =

S

Ixcos (1Dx )dx u=10x2 ZOS Cos (/Q;(t) (Z,ax.\:' [( . =

1
O A S sinw+C

2

O B. %—sin (105%) +c

O €. sin(10x®) +C

1
O D. 2 Sin (106%) +¢

2 =
Z% Sin (/oxX)+ ¢ =

T

quS ()ééy f(.{d J;( z
Answer: 210 sin (10x%) +C ﬂi) -+ =

/D55 S _ =t

f _ - 59 (_,uw'\,d'f‘lf S Qu-aof d —
144. Evaluate the following integral.J X

(..=’——"""
J- o —z’(‘l"(é(’t)) -t S’-*(‘(/("Z)) @:—0 _f- (L)L"
XZ- X+ L-
I d 2x+5 S\ )(’L___Z’( ‘f_(...l)l _(.5/_( ()L
x ‘ &y
x2 -2x+5 =

{Use C as the arbitrary constant as needet.) )( —{K | €y~ l

3 { .
Answer: 1 -4 X=1 ,__-—————'i‘—"’_' S
Etan 1 > +C y Q(__()(x,‘) —+ ('f

SES —_
/D ) S m -

L/- 145. 4 :\
If the general solution of a differential equationd Mhat is the solution that satisfies the initial condition
y(0)=67 -«g

¥€
e 1" Ce-«f" 2E = C e Fro

I = Ce TrE &
Answer: —4,. "5 10
ce 7‘/01

ID: 9.1.2 V+/0T6
C+fo= €
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146. Find the general solution of the following equation. Express the solution explicitly as a function of the indep,

variable. - / _ é ) ¢
o ;’{‘72(5/ ’ r\ﬂ ji e “
S a Sdy <yr€ "¢
Answer. 4y - (1"_'6,__
5 C j_@,f} G¢” ) | <
rzalid s

dy 3t
Find the general solution of the differential equation E‘ti = W

Choose the correct answer below. ﬁt? é j - 3 {l t;{ L
OA y=28+C PWAN|
bz \3€ 44
OB y=sq2+cC Scfj c\'j j
t3 f«"/
Q¢ y= % J?"C ’j_ 2L ¥ (’{
K

-+ {

lD.- 9.3.7 - e i ——

148. The general solution of a first-order linear differential equatnon(&(t) Ce 10 -9, V‘\-Ih\at solution satisfies W- =

condition y(0) =57 _ & ______ﬂ_:) S f«a{/7
The solution is y(t) = |::] (7@/ C€ 5 qffo{ ; /

poower 10101 7mwce~ﬁ |/
C6’=—/i} S5
C L\)""fh e

C—/9 =3 y
C—%ﬁ’f'ﬁ §779

AT

nnnnn

471617019 235 PA

ID: 9.4.1
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7
(As. Find the@eneral solutiR of the following equation. 0 /) £ 4 \
- = -
G- 2

y'(h=dy-5 tjﬁ{/ %9 —-—:’
yity= ~
(Use C as the arbllrary constant\?() C C’ T —'

ID:9.45

150. Find the @u_t@bf the following equation.

y'(x}=-y+4

y(x)=
(Use C as the arbitrary constant.)

Answer: ¢, "X 4+ 4

ID: 9.4.6




